GS/1G/101

Part A

General Mental Ability, Administrative and
Psychological Abilities

Ganesh donated 50% of his saving of
¥ 1,26,588 to Ayodhya Trust and he invested
Fhe rest of the amount at 10% compound
Interest per annum, separately for his children
Krishna and Veda in such a way that when
they attain the age of 18 years, they would
receive the same amount. The age of Krishna
is 13 years and that of Veda is 11 years. Then
the amount invested for Veda must be :

(1) ¥ 28,204

(2) < 28,640
(3) T 26,840
(4) T 28,460

Find the Mean of the following data (correct to
two decimal places) : b

(4)

58S oL RFALD)

5]

o0 A
¢8, 0B NES DB
2y8erBES DO
(oA b5 oy T 1,26,5888 50% Ty
|ORE DTFOT Qo) HBa DADS
&), H03es o8 10% 28
D ANGT B DD Sok) SO0 S F&o
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(1) T 28,204
(2) T 28,640
(3) T 26,840
(4) T 28,460

&3 1808 B0 HP§HT R EFS08

Variables Frequency (BO 5703 FareBd NS80W0R)

15— 25 4 J6ohand) eI 50
25 — 35 11 15— 25 4
35— 45 19 - 25-35 11
000 = www.stuhybiz; como > 12
55 — 65 0 45 — 55 14
65— 75 g 55 — 65 0

(1) 3926 65— 75 2

(2) 4026 (1) 39-26

e = e

(4 =260 (4) 4265

Find the number of triangles in the following
figure :

(1) 36
(2) 32
(3) 48
(4) 52

& 8o D$oS (Bvere DO
EAS0G L
< Yy

— 7, .
N\ 2N < s
2" AN
/\ *Q
. : é
M 36 ¢ & 3
2 5 -
(3) 48
4) 52
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(5)

Bach of seven boys named A, B, C D, E, I and

rent day of a week,
starting from Sunday and ending
of the same w ee

G has an exam on a diffe

on Saturday
k. Only two persons have their
exam between C ang A. B has his exam
nnmedlatdy before E. C has his exam
lmmedlately before F. Only G has his exam
after A. Which of the following options

represents the correct match of a boy and the
day of his exam ?

(1) A:Thursday
(2)  G:Friday
(3)  C:Tuesday

(4) B :Monday

Consider the following Asse%\ﬂ/}étﬁﬂgl

Reason (R) and choose the correct code :
Assertion (A) :

A person with AB*V® blood' group is called as
‘Universal Recipient’.

Reason (R) :
A person with AB*V® blood group has A & B

antigens and Antibodies in Plasma.
Code:

(1) (A) and (R) are correct and (R) is the

correct explanation of (A).

(2) (A) and (R) are correct, but (R) is not the

correct explanation of (A).

(3) (A)is true, but (R) is false.

4, A, B, C, D, E, F 8050 G ez OGS & &),
DD @2y yanerds” D& 2.5),68 Eocts
SI05% B D88 Goencsd, whs oo

«Zno& S0 D  eods "doc’)"‘«v »z:ga--c

=late ég@)oé\) €83 T8 oség oodx. B
BED Mo E & 585 Loy, C )
VO F 5 H8E Sexcky. A Sor5ed G S
I(SD HOE G0n0d. & 0B JoEereS
QO 21)0m QI8 OB 2365 B
@& DBE T QrDN0A ?

1) A: %S0

(2) G:dE>%0

3) C:Doigardo

(4) B:&da>rdo

5. 808 A8 (A) HOKH 5680 (R) e

DiZZ. C@ﬁ{%ﬁioiﬁoé INVola W) (\)Q(\V} ?5:53
DOHFOR :

S DESED (A) :

AB™E & [(IrD &) S580 ‘OhrlSSyS
BAVTDOE’ 0TS,

590 (R) :

AB™ 28 ("D &) 5588 TS’ A & B
ASro3BIen  SHBA  aSroederden
&) 0m.

£& :

7 (A) HBAD (R) OBID HBA® (A)
By OB D3GE (R).

(2)  (A) DHOAW (R) AT, SR (A) [y,
OBN DIBEI (R) 5°ED.

(3) (A) dz0, oS (R) ).

(4) Both (A) and (R) are false.

(4)  (A) HOAW (R) DOy ).

» 4
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6.

6
Cl " o
*hoose the correct suitable figure a r tl v
four alternatives A, B, C and D .mﬂﬂlt), 1 el6. & AN (HAS QI DAS ey
. ’ ) c given below v, m‘ (ﬁs‘,@ A B C é)
that would complete the given figure matrix. g C Od» D &
3588 P8 TR DTS DSy Q&
QOTHTOA. B
2
7
A B C D
(1) B % = p =
(2) D
(1) B
@) C '
(2) D
(4)  None of the above figures can complete @ C
ihe matrix www.studybjzz.com
(4) DA A Sy 3 538 TAHSYH
Vande Bharat Express travelling at 63 kmph 7. 63 8.o/o Jtfod’ (DAreIoT H0B xS
can cross a platform of Visakhapatnam QEIDRD 1995 &Y ;B &)
railway station which is 199-5 m long in JTPIL)0 BBy ?9&'15 B
21 seconds. How much time would Vande 21 —?'\)§‘§€56 OB, 157 &S e
Bharat Express take to completely cross (from SHOW SOTFES JEY NV § S5V HIS’
the moment they meet) Duronto Express Ko&% 54 8./M0 JKoS |DATFEINS),
157 m long and travelling at 54 kmph in the B0 IR JOT T8 (FH
opposite direction to it ? DS 800 Do) S0TerdS NSV H
() 8o D05 NNONO DO ?
3 (1) 8 7EW
(2) 10 seconds
(2) 10 DI
(3) 12 seconds 3) 12 ED
(4) 16 seconds 4) 16 ED
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8.

Study the following bar chart and answer the
qucsiion that is given below. The chart shows
the number of students that appeared for and
passed B.Tech. examination from different
1I'ls in 2024
Number of students who appeared for
and passed B.Tech. exam from different
IITs in India

350 4
il 250 19 Thaso
2501 510 [ 225 0o
200 + 160 180
150+ 150
100 T
50 1
0
T aT aT aT IIT
Kanpur Madras Pune Tirupati Bombay
] Appeared ' Passed

The number of students who passed the
examination from IIT Kanpur and IIT Pune is

what percentage of the average number of

students who appeared for

the

(7)

(o]

e, 1S0OG

& (Boe
EINKEA
202465 2ymy
2385

QOW§E)

20 B @S0
D)8 Harardo
.,C) 1ITe> S0és B Tech.
DOAD  adyesd
) o) Srdyenod.

PBETH0S'D DD 11Te> %908 B.Tech, Hbgso

3¢
2B HBok & BGHBS dursheo Homg

oY )

‘J‘U'“(/CS.
/. . 3
o){/f;,_ﬁ.j

PO
il N

350

300
250 +
200 1
150 1+
100 +

50 +

0

300
950 270
210 [ azs [ [eso
160 | 180 200
150
- | |
OT OT Or ur 1T

A0 HED B BHDS 2rod

[ 58D 8a B GBI
IIT S&)5 8k 1T 8 $Hod HEES'
SBHBS dorsdHeo Sopg T SOITN,
IIT S5NS HBA IIT 27023 HoG HBE K
FEDS e Died  DopiS o

examination from IIT Madras, IIT Tirupati F°H0 ? (S8 (800 &) :

and IIT Bombay respectively ? (1)  60% DBA%D 85%

(1) 60% and 85% www._studvhizz.c (2) 64% DO 90%

T e

(3) 65% and 75% b o

(4) 62% and 90% 9. & (806 3OS (1DELIOD BN

Read the below given statements followed by
conclusions. Choose the conclusion which

logically follows from the given statements :
Statements :

All professors are doctors.
All doctors are engineers.
Some professors are lawyers.

Conclusions :

I.  All professors are engineers.
II. All engineers are lawyers.
III. Some doctors are lawyers.

(1)  Only conclusion I follows

(2)  Only conclusions I and III follow
(3) Only conclusions I and II follow
(4)  Only conclusions II and IIT follow

oo BE90s. B3NS D8RI
0B =BLEOT ©HIBOT BTRTOD
o0
(DSOS :

I 0B0N8r JEoge.

SE0§O0SET OBV,

TR | DI erahHP.
SO e :

L I IB0SEr B0BAR.

II. 203AB0REF eOHW.

II1. oA Jngen ercHd.

1) QT80 I Sr(edaD @O0

2) oo I 005w T &r{ehad
IV o eeW

(3) BTN I 0O IT S|
SIS T e oW

4)  Sored IT B0k I Sr|edad

©IOT 0N
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11.

10.

polling station for the general elections 2024

and

Maoist prevalence is high. During the day of
polling a group of Maoists come and try to
disrupt proceedings by terrorizing the voters

and firing guns. What will you do ?

(D

(2)

(3)

4)

of perimeter 2p has radius r, then the area of
the polygon is : | 11.
(2) (p-n)r

(3) (2p-nr
(4) pr

If a circle touching all the n sides of a polygon

Assume that you are the polling officer of a|10.

the polling booth is in an area where

Immediately stop the polling and inform
your higher authorities about the

incident.

Ask the police to resist the Maoists by
getting additional force.

Inform the police force stationed there
and ask them to ensure safety of

important documents and EVMs.

Ask your subordinates and voters to|.
: dyhizz.com

; WwWW.STtU
revolt against the Maoists.

ey G385 2024 & 2.8 SFOF

DaSk SO0l @bst @l Sba

rSfons  Eraoio  80pSM G

odod @ o wrd  wodk

ardocsod. SO0 Bzrd  drSoandpe

29000 SDY, 2,688  250h(erodies)

BT hdHod  sen)en 20l

s s8erarodd e@odorodo EOROTOLHSL

(HOHE 0T . 9980 D D T ?

- 06T FOOR & B, H0HOI
%00 N &ITOHTHOH SOOD
TODBo.

@) SFOMOLH  odSH  dOTOD
QDBEFHHEQ %)% G,
SESTONREOD |DEBHE30IN B0,

@) @& &) FON worod SdH

TONGB0 HBAN  SPFS  J(E@ren
30050 EVMe 2550 QT80

I8 §8cs0.

4)  SrSTanpedy SsBDSor edieren
BToHY N 180H FaN @HSTHOMN
o800 £38 edHO.

r o Ko 28 S9B0 2p YT o
230202 gy @) DY n d TS,
©HIB 8 DHVEHE WY ITOL0 0
o)eDOR :

@ 2=
(2 (-n)
3) @p-n)r
(4) pr
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12.

13.

14.

)

In a recreation club, Sam, Gautham, Nagesh,
Deepak and Anup were playing cards. Sam
says to Gautham, “If you give me three cards,
you will have as many as Anup has and il ]
give you three cards, you will have as many as
Deepak has.” Sam and Gautham together
have 10 cards more than what Deepak and
Anup together have. If Gautham has two
cards more than what Nagesh has and the
total number of cards be 133, how many cards
does Gautham have ?

() 35
(2) 45
3) 20
(4) 25

The question below consists of a figure A. You

have to find out the alternative figure from P,
Q, R and S which contains figure A as its

part :

A

A P Q R S

(1)

(3)
(4)

= O "

" In a certain code language, Bihar is coded as

Uttar Pradesh, Uttar Pradesh is coded as
Punjab, Punjab is coded as Assam, Assam is
coded as Goa, Goa is coded as Bangalore and
Bangalore is coded as Sikkim. Then in which
state was an AIIMS inaugurated recently by
the Prime Minister of India ?

(1) Goa
(2)
(3)
(4)

Assam
Punjab
Bihar

sl

(9)

13.

DiZZ.q om

14.

Ty

2.5 BI8GHAS BB S @rady, Mehon), S5y, HHS
oNOCL) ey sl ednean)dy. W
T ey ewoerdh, “Wd; @750
sQen o), H 56 oD & JLardorr
BN Fesy Ho Harek SHen TN, & HQ
OIE & Jardomr shen GoLron.” W
B FebSy @dd &S shen $DNE ©a)
ODT 0B edrD B8 B &), s:Den
0B 10 DEnd awow. Sin O
GO Loy TS BHG Do s
DS GOt LB FBo FRO HOWS
133 N8, FAd Ofd ) sQew
o) O ?

(1) 35
(2) 45
3) 20
(4) 25

808 (HRS QS0 A, & ONHIS Y
HEsr)oH P, Q, R HOW S DS
Dot zrrormr ol 0 Effdods :

S|

A P Q R S
(1 P
2 Q
3 R
4 S

2,8 QA F& 27T, DIBH GSIDHTIT,
GSSDTTD DO, 02D D VYOI,
)0 K, Farad BoHerdmr oAk
BoHETrHD D& o T TTH. NS
218 1HETR BEDO @ TROS’ NI

(ATIIMS) |80 0T ?
1 o

(2) ©@J)0

(3) - dord

4) DI
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15. 1f 808 x 8008 x 80008 = A and the sum of all
the digits in the A is M, what will be the value

(10)

.

o)

15. 808 x 8008 x 80008 = A SHOAW A S @)
@080 Swso M @and. VM 3BnE; dens

of VM 7 D0ed a0 ?
(1 8 1 8

@ 12 @ 12

@ 0 3 o

4) 4 @) 4

(Directions for questions 16 — 17)

There are two series given below, of which one is
complete and follows a certain pattern. Based on the
pattern of the complete series, find the answering

(16 - 17 (5%) @80 AvreSasev)

& (805 Boch Hogrs (Fewen RSAFTA,

F3S° 2,883 Hronod HBAM VPR SR

term in the other series with missing terms marked

by alphabets.

16. Which number will come in place of D in the

following ?
4 25 169
6 A B C D

©9HDB0BDA0D. J§ Hogrs (B3 DOV [y
Sty eordor,  SfSreed  HBoadd
$2)FPANS DTOS RSE DOYrS B’ OIS

Q) EFS0&.

www, studybizz.com
1 V&tﬁ. i (.
16091 b= Egld 16. (8o& F36° D S0 St Do IO ?

4 25 169 1009 5041 20161
(L 7eET ¢ A B C D E
@ Bagd (1) 7827
LU (2) 8394
(4) 8514 (3) 8401
4) 8514

17. Which number will come in place of E in the|

following ?
4 7.5 21-25 77-875 3549375 1957-65625

17.

1808 &S’ E FS06S S5t Qop§ & ?
4 17-5 21-25 T77-875 354:9375 1957-65625

5 A B C D £ 5 A B C D E
(1) 21842 (1) 21842
@ 21145 @) 21145
(3) 22825 @) 22825
(4) 24194

(4) 24194



18.

19.

20.

/]G/]O]

(11)

Amit has to travel distances of gg km, 88 km
and 110 km on three consecutive days. He
travels with the greatest possible constant
speed (in km/hr) on all the three days so that
he covers the respective distances in an
integer number of hours on each day. How
many hours will it take him to complete the
journey ?

1) 8 hours
(2)
(3)
(4)

12 hours
92 hours
924 hours

[f pKq meansp+q

pLgmeans p—q

pMq means p X q

pNg means p =+ q

which of the following equation is incorrect ?
(1) 5K3L4M6N2 =-4

(2) (BM7)M(7TK5)L(6N3)N(3L2) = 670

(3) 5K6L3M4N8 =95

(4) 30N10K4M2L2 = 15

A pipe ‘N’ can fill a tank in 1/4 hour and
another pipe ‘M’ can fill it in 1/6 hour. Both
pipes are opened to fill the empty tank, but
after 1/15 hour a leak developed in the tank.
The leak alone can empty the full tank in just
1/12 hour. If the both pipes were opened at
9 pm, then at what time will the tank be
emptied ?
(1)
(2)
(3)

(4)

9:20 pm
9:30 pm
9:25 pm
9:40 pm

www.study

18.

19.

20.

@]

OME JeHm Xaychy Seren 66 82, 88 80

BT 110 88 330 (HATEIOTO. @S
B Baverss A0S FH RO
S0 (8h/oc) (HATEBR, 3708 DO
HoLos (HBFe~ H020HS EFTTOND
OS88  Fhotrd. HOTETR) 0
TOHETAE s ) HoLe DR
DCKOH ?

(1
(2)
(3)

@

8 tioereny

12 dodyen
22 ffodyen
24 Soéen

PKq 0T p+q

pLq @0 p-q

pMq 0% PXq

pNq ©0R) P+q OONSB

%3 808 SNESET S IO 89, ?

(1) 5K3L4M6N2 =-4

(2) (BM7T)M(7K5)L(6N3)N(3L2) = 670

/bizz'@9m5K6L3M4N8 =85

(4) 30N10K4M2L2 =15

N @D ) 28 erosd 14 Ko&ds
DoHKOE B HEFE H M, 16
KOS DoDKOX. 29 ¢rs0E oD
Bok DI 8SSaF0w, @onsd 1/15
Koty eorsed  ergo§S  2¥  Bogdaw
DBYB0H. 3300 & SO0 PG 112
K& 50 ers05 ard Tod. T & 9
Ko&OE DOL LD BBR, & DNOHOS

&3 é7°508 gr 9908 ?
(1)  9:20 pm
(2)  9:30 pm
(3) 9:25 pm
(4) 9:40 pm
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21,

22,

23.

Rajani has a digital wateh that shows time in
a Zd-hour format. The time op the watch
shows 23:45. After passing ‘A’ minutes the
watch shows the time in such a way that the
four whole numbers are again arranged in
ascending order from left to right. Theﬁ what
will be the value of A x A ?

(1) 7569
(2) 8464
3) 6724
4) 9604

If E * F means ‘E is the son of F’
E + F means ‘E is the father of F’
E > F means ‘E is the daughter of F°

E < F means ‘E is the wife of I’

which of the following pair of people
represents first cousins with regard to the
relation given in the expressions, if it is
provided that H is the sister of P ?

Q>R<P+S and M*H<I+J<K+L

(1) QH www.study
2 MS

(3) ML

(4) MK

In a hostel room, five people P,Q, R, Sand T|

read a novel. The one who reads the novel first
gives it to R. The one who reads the novel last
has taken it from P. T is not the first or the
last to read the novel. There are two readers

. . between Q and P. Identify those two readers

between @ and P in the same order.

(1 RandS
(2 RandT
(3) TandS
(4) SandT

(12)

21.

22.

6zd &6 28 &zed o8 aos o,
24 B0 FTYES" IO STeyesyns
FSS At dHho 2345 s,
DO T3S SO ¥ Ty Jyne
DOPED G Do& LbE el
@D OGS Do
BN, @oNE AxA  Dewnd

3 Vi & ‘

327 ) N NN -7

o L) JedI0LT
..

S
el

@0)ed08 ?
(1) 7569
(2) 8464
(3) 6724
(4) 9604

E*F @dm E ®@0®) F Bwg) 858y’
E+F odmr E @0 F B0, So|&y

E>F eodmr E o) F &gy 050

E<F ol E @o® F BE) o70s wonsd
H QP Gwg FSOmr HORSR, & Bocw
5588800 2I50ES H02058
H0080D 1808 oS SH
orasrede (first cousins) @:)& R ?
Q>R<P+S 8w M*H<I+J<K+L

(1) QH

bizz.6dm MS
(3) ML

23.

(4) MK

2.8 SRS 5O, DEHS S5¥ven P, Q, R, S
NOAD T 28 S50 BHTH. SO
IS IBIS H58 TR SBares R 8
QUER. SO DIET IAVS 558 A P
0B SV0EFE. T S50 HAVS IS
B DB 358 5. Q HBOSH P s0¢d5 2P
FEHEN ST, Q O P g &)
2% TEHOD ©F SO0 (§00S
H8ov0&.

(1) RBA™S
(2) RDBA™T
(3) TndawS
(4) SNOA™T
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24.

25‘

Consider the following statements :

L. An equilateral triangle in a circle will
have the maximum area compared to

other triangles inside the same circle.

II.  If the height of an equilateral triangle is
10 cm, its area will be equal to

1003
'3— cm-=,

III.  If three sides of a triangle are 5, 12 and

13 cm, then the circumradius of the

triangle is 2-5 em.

IV. Scalene triangle is a triangle with none

of the sides equal to any other sides.

Which among the above given statements are

correct ?

(1) 1,1 and IIT only

WWW.
@ 1 IIand IV only study

(3) II III and IV only

(4) All the above

The sum of all the three-digit natural

numbers, which on being divided by 5, leave a

remainder equal to 4 is XXYZA. What is the

value of Y+ 27

1 9
(2) 2
(3) 14

(13)

(4) 18

[©]

&3 (806 (HEEISOE HONEBOSO

L 28 $y808 dadnerdo @ehzo o
S9BoSD ads | Bhwred FOR
563 IFered), $ON Gotnod.

I Dderdao (82H230 GBns) 2€% 10 cm

1003 5
3 cm

LONSE, TR D950
&0EN0A.

L (Bhzo B, SHrdd HEren 5, 12
8050 13 cm ©ONS, (B0 T8y
SENFee RGO 2:5 cm GOLNOX.

IV. 288 1820220 (Scalene triangle) S
20eren A add Heredd ddrdomr
&08e).

28 BN (HELIOS” DB HBID ?

1) 1, I 3008w I Sl ad

tbizz.com

@) 1,11 50805 IV S
(3) 11, III 0808w IV Sr|ehadd

@) IV

5 2rRORAINIW, 48 SITrSRS D0
DPAOT @) Hred @03 D QOPIY
SIS0 XXYZA. 0008 Y + Z Deed S0 ?

(1 9
(2) 2
(3) 14
(4) 18
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(Directions for questions 26 — 29)

Read the following instructions carefully and

answer the questions given below :

Nandu and Mohan decided to sell their Apple 6
Series watches each at ¥ 42,000 t Karthik and
Ganesh respectively. In each case the selling price of
¥ 42,000 was arrived at by increasing the cost price
by 25%. While Nandu gives a discount of 10% on the
first ¥ 12,000, 8% on the next ¥ 16,000 and 5% on
the rest to the buyer Karthik Mohan gives a
discount of 8% on the first ¥ 16,000, 7% on the next
I 8,000 and 5% on the rest to his buyer Ganesh.
These discounts were however subject to the
condition, that the buyers make the payment on
time, failing which the discount gets reduced by 1%
for every delay of a week.

If Nandu and Mohan got all the payments on
time, what is the approximate percentage of
profit of the person getting the higher profit ?

26.

(1) 14% www.studyb
(2)
(3)

4)

21%
17%.
9%

If Karthik defaults to make payment by 1 and
2 weeks in the second and third payments
respectively, what would be the profit of
Nandu on the sale of a watch ?

27.

(1) ¥ 5480
(2) T 5545
(3) ¥ 5,660
(4) T 5,740

(14)

(26 -29 (3%) @30 AreSaSev)

& (808 Srddod  Fdémr SO
25 520 1041080 Jdrerdo @t sos :

S0 OO SIS e Apple 6 DOV TAe,

2,528,638 T 42,000 5°))& 570§ O SRS
JEwoTroR  dgowothvar). CPO  25%
03¢0 rso° T 42,000 @080 Q8 HY0B.
Nocd Dwde T 12,000  10%, 008
T 16,000 8% SHOAM MADS D 5%
S0 ERenTd 57855 RI5™ IS S
Eoffenerd AE8 Jndes T 16,000 8%,
SC000 T 8,000 7% NOAW DAODS TR 5%
S0 [T)D. OB S SHoDeN OO
S Gotraw, Foffentrden Jsreos” TOoy
TAHBo DHODS, HS 80 wosAs Sfoy

1% SHSVOA.

o

SO HOAH TTS  DOATIS @)

26.
TOoHen FoBILWS, VPES” ¥y
S0 FONSD)  SI58 Ty erd- TS0

ZZ.CQE ST 0o¢es ?

(1) 14%
(2) 21%
3) 17%
4) 9%

585 Toks HBAw Swrds TDoHes'
QWA 1 HBAW 2 o) Foen DO\,
TS @580 S48 5D €250 Do ?

(1)
(2)
3)

27.

< 5,480
< 5,545
¥ 5,660

(4) T 5,740
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28.

29.

30.

31,

(1

If Ganesh defaults in each payment by

2 weeks, what would b
the sale of a watch ? o the peaitet Mehaan

(1) ¥ 5,400
(2) ¥ 6,200
(3) ¥ 6,500
(4) ¥ 6,800

What would be the difference in the profits of
Nandu and Mohan if both the buyers default
in each payment by a week ?

(1) T 440

(2) ¥ 464

(3) ¥ 488

(4) ¥ 520

Madhu purchased a bike in the year 2024 at
the cost of ¥ 78,000. It depreciates in value,
10% the first year, 9-5% the next year, 9% the
third year and so on, with all the percentages
applied on the original cost of the bike. What
will be its value in the year 2029 ?

(1) T 43,000
(2) ¥ 42,000
(3) T 42,500
@) T 42,900 www.studyl

Neelima places an order for ‘p’ number of
from Agarwal Sweet Shop that
number of sweets every day. r% of
ts produced in a day
discarded. What will
hich the order will

sweets
produces ‘q’
the total number of swee
fail quality check and are
be the number of days in W
be completed ?

§)) P
100q(1 - r)
@) 100qr
P
@ 100p
(100 — r)q

5)

28.

29.

30.

DIZZ.

31.

q(100 — p)

[0]

KB 198 3o THEAS 2 ST D
IS oS, TO ©30808 IS
SIS €0 o ?

(1) < 5,400

(2) ¥ 6,200

(3) ¥ 6,500

(4) ¥ 6,800

D TOod a8 Fofenardd A
2§ T80 Bwe e OIS SO
580 Frarse erpred S 20 ?

(1) T 440

(2) T 464

(3) ¥ 488

(4) T 520

S0¢% 2024 D0SBIGOS T 78,000 BES 28
BEL Toffen BT, (98 H05e5)80 AT
6 oD Dend SHErFBR00, J0ce3
D0Hed )00 10%, 2800e3 Hoded B0 9-5%,
A0S 00568150 9%, BE CTY IV )
2 o) TEO S00HBD, 20298
50583608 @ Dend oS @Yo ?
(1) T 43,000

(2) T 42,000

B t 42,500

(4) T 42,900

5O (HAF2 ¢ DoS 86508 cred )&

3% eiforsd D5 D Hod p’ Homses
55850 ©gd DR, (HS B b )
Sahnhs Swdo s ri g
$3DS* DpoD FEIchaderan. wond
505 G edb ) S=d I8

90900 ?
P
(1 - —
) 100q(1 = r)
2) 100gr
p
(3) 100p
(100 - r)q
4) 100r
q(100 - p)



T TR

N

o - :
9 1ere are 5 : . (56 éa ofk)d)), ‘;(-)J-{;J"’;, ’
names Ravi mfmbcm in the family by the|32. 2.5 B0 “,aj)vu) G ./A: .
Praveen l‘)\l' Madhu, Mahesh, Raghu and L:Jbgs o3 5 0O 1653 - ":'2':-‘-
as fat - traveen is taller than Raghu but not B g0 TR AL S o
but shor Raghu. Mahesh is taller than Ravi|  ersdim S0 e 8 $0 T Gy g
Rag}mo;ter than Madhu. Ravi is fatter than 58 DD 50® & G0 62) 43,
i ut not as fat as Madhu. Praveen is g0t T G 2C0 S* Q OGN &) e,
- IIthﬁn Mahesh, who is thinner than Sew. LZ)5)55 Sy 40T AT GG
Ol‘dberu: f tt“hey are arranged in an ascending $HBaD Syer B0 0T OAT Gy ¢,
e, fatt - : ; p o
er est to thinnest, who will come in e EEN0oD HEHO 2BHOD BT
I K0S (T ), 09 IOE Hbay,
raveen BT &5 309 DBE ) &GOS Qs
(2) Raghu 3585 ST ?
(3) Mahesh 1) L;)g)gs
(4) Madhu @) B
3) Sura
(Directions for questions 33 - 35) 4) D

On the eve of Bathukamma festival, the association
of Greenfield Apartments had organized games for
children. As a part of that, Keerthi, Joshna, Pallavi,

WXV}%&‘.‘W%Z

Rama and Swetha participated in
different ranks from 1 to 5 in the race (1 being the

fastest and 5 being the slowest).
The following information is also known :

1. Keerthi is not the person who finished the
race first.

-pallavi didn’t get the 5th rank, but she

1II.
finished the race after Keerthi.

11I. Rama finished the race after Joshna.

The sum of ranks of Keerthi and Swetha was

equal to the sum of ranks of Pallavi and

Rama.

33. Among the five girls that participated in the

(33— 35 (SF © §0 reSSen)

sy Hodhd DOLBHOM AS DS o]
y SoTD) ©ARIDAS e3¢5555065 D) Sod
estre) eSen QP srowrd. 2006 2riorr BR
S 88, &), DO, 8, 35 FP L. T
B3OS 1 000 5 S8K S0 000N

race, who was the last to finish the race ?

(1) Swetha

(2)
(3)

Pallavi

Keerthi

(4) Rama

Ford (1 BHS IhS0SDIO  SH6A
|5 QoA &s08).
&3 (808 IXrTE0 S SOV0H :
L 88 &m0 B0 SnBoDN 58 57e.
I H028 55 o50f oracd, s §8 &
B0 SNA0DOA.
I &) S$0°5eh $odd B SNAOD0S.
IV. 88 8w 35¢5 Trgodoe BS0 HOD
DBAN B T°5050e> VNTAE Dedr0.
33. TS DSW) D rdiod, D300
B0 S0A0DS T DS ?
(1) e k I
2 H0 ¥
3) 88 ”L K
@) 3% /
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34

36.

317.

(17)
If the sum of the ranks of Swetha
is 8, then who got the 4th rank 9

(1) Keerthi
(2) Rama
(3) Pallavi

(4) Swetha

Among the five girls, who could not have
finished the race after Pallavi ?

(1) Keerthi

(2) Rama

(3) Swetha

(4) Cannot be determined 36.

The ratio of Pooja’s age to Ajay’s age is 1 : 3.
The ratio of their ages after 8 years will be
1:9. How many years ago was the ratio of
their ages 1:57? -

and Pallavi 34.

35.

(o]

A SHBasy HeD oofe Snéo 8
ONSB, 455 T*508 DHB T HOTG ?

1) 80
2) &
(3) DD
(4) Fgeb

ool rdio, DO STsS DO

DA 0 TR ?
1 88

2 B

(3) R5

@) DPoNOIEO RSO 5°C0

Jyrer SBahN @200 $%)® AJS 1: 3.
8 HoSsyore dorsed 0 $0%0) NS
1 : 2T GOENOD. DV Hodeyore (8o &0
JAH) NG 1: 5™ &O0BO ?

(1) 3005070

2) 45085 e

(1) 3years
(3) 5 D0SSHT D
(2) 4 years WWW.Stug ybizngona 50507
3 5
(3) b years 37. 2B S HArD EDSH 2.8 B wrgoBod
(4) 6 years Sy . EDS SS )R FEHY Infowlele

Bhaskar bought a piggy bank for his daughter
Kavitha. Kavitha started saving her money.
On 15t March, 2024 she saved T 1 and every
day starting from gnd March she saved ¥ 1

more than the previous day. Find the first
date after 15t March, 2024 at the end of which

her total savings will be a perfect square.
(1)  10th March, 2024
2 26t March, 2024

(3) 17t March, 2024

(4) 8th March, 2024

D 60HODOB. 1 578), 20248 & T 1 &>
=208 SHOAN S8 285 BE ok Ded
S e SN Tz 0B T 1 T
s 3208, 1 S78), 2024 ST S &S
=28 oo TN PSS O
(perfect square) o3 I BAD
EQFd0k.

1) 10 S¢8), 2024

@) 26570, 2024

(8) 17 3°0), 2024

4) 8S5r8) 2024



. - 0
" Jaa A shopkeeper. e F0sE w3
cus soper, nitially had ‘n’ pens. A 205, S ErTET"eY, SNEE 0 e
Ustomey boug!n 10% I . 38. : - g
anothep cust “ Pens from n, then GO, 2.8 500 n $08 10% le@'l,
remaining p;n:mefr bought 9¢q, of the Foffey [, STS D0 §h4s
» alter that g
Purchased 256, oy o re;ai:;z more cus.tomer PAOS DS 20% Toffen TP, ¢
Jaya was left with 97 pens inghpens}; Fm;lly, S5 0O $YE WHOS DA O 93,
er shop. :
Mmany pens were there initially in hep s?ip ,,ow Fefifen TR, DIGT, 2300 S NS00
(1) 600 270 DN Dferaw. & S0
TnBE D) D e GBI ?
2) 450
(1) 600
(3)
00 (2) 450
4) 500 (3) 700
(4) 500
39. A preliminag test was conducted by a
récruiting  agency  which consisted  of|[39. 100 (HFOS TGS (DS HEE, Bsoe3oh
100 questions. Madhuri takes that test and DBY) TS0 ABLFOBDA0B. SFHO &
attempts all the questions in it. For every HBE S T NHOA ©oHSD Q)
c : .
‘:rlz:z;tananswez" 1 m:.lxi‘k ;s a;vz;lrded, while a DI T°oA. (D3 OB DrETardE
swer is :
penalized as follows : 1 S0y AS5E08, $9) HIFCETOL
L One-fifth of the questions c L éanlrgO@ DGO BOITT® DBOTIDH0E :
1710 » king, WWW.studyhizz.co
negative marking. L 20885 o (Do 1710 [ASS
II.  One-tenth of the questions carry ST Goraw.
1/5 negative marking. I 38 S0é DdHNoH 15 S6SS
IIT. Remaining questions will carry Sy GOLrow.
1/2 negative marking. I DADS (D)% 1/2 SRESS gy en
GOLrOW.

Unattempted questions carry 0 marks. If
maximum and minimum possible marks

scored by Madhuri are X and Y respectively,

is :

then

17375
(1 4
(2 6
3 2
(4) 8

B (DADBYOWA (HF) & 0 STSyeD
GOLrAN. A8 FOODS 10 BN
EAR ArEyen SEIM™ X 805 Y e0ond.

X~=Y
®a) ) ——— Jend:
) 17-375

1 4
(2) 6
3) 2
(4) 8

r———
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40.

41.

In a classroom, a teacher asked, “How many
9-digit numbers exist which have the property
that the product of factorials of its digits > the
sum of factorials of its digits ?” Then what will

be the answer of the students present there ?

(1) 56

(2) 63

(3) 64

(4) 72

Krishna, Suresh and Raghava together
started a business with the initial investments
of ¥ 15,000, T 18,000 and T 20,000
respectively. After a year, Krishna and Suresh
increased their investments by ¥ 5,000 and
Z 2,000 respectively, while Raghaxyxw}%
Z 5,000. After one more year, Krishna, Suresh
and Raghava increased their investments by
20%, 25% and 40% respectively. It was
decided that Raghava would receive 20% of
the total profit received by them for his extra
work and the rest of the profit would be
distributed according to their investments.
After 3 years, the total profit received by them
was T 53,400. If the extra profit received by
as excluded, then find the ratio of

Raghava W
of Krishna, Suresh and

profit shares

Raghava :

(1) 56:63:53

(2) 53:63:56

(3) 59:63:56

(19)

studybizZ ot

(4) 69:63:56

40.

41.

(o]

2,8 SSHD HOS' 2.8 G EOM “HDoPIL
SEwe L) GSI8 > TN @ose By
soFoTe INB0, S8 ©FLo &)
2-908¢) HoDEED Q) GAES’ G0N @
OATE” ©H)H o85S &) ITIDO
QPO daNes ?

(1) 56

(2) 63

(3) 64

4) 72

£33, TR HOAW ornsd §OD T 15,000,
718,000 BA T 20,000 |08
2EPABOS FC0 oo, a8
5058350 $T5S S 58050 TR 5D
A [ANA& \[SINY IBdmr T 5,000 QB0
DOVIT, (O VNY Z 5,000
65.;6&)055‘60:353@&5‘;63._@6‘ NFd SUrged
£33, TR OGN Taad SO 20%, 25%
80 40% TN S €PN
250cHETY . T?aDed 30 @398) DN g0
B8 3D IS0 erefoS 20% OHT R
$8a MAOS erdo 0 22EP22H©
Dedo  HodEs Sahadod @
dfovosa&od. 3 B03$ T ST°SS,
F88 ©DoDS Jndo ergio T 53,400. T°%0
FoBY B erdo DSTFONOIES,
ER, T HOAN TND TBE), T

218 DAV EOAS0G !
(1) 56:63:53
(2) 53:63:56
(3) 59:63:56
(4) 69:63:56
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(20)
42 J as ¥ 1 Yy « 3
‘a.)hn. has a piggy bank which  contains | 42.
25-paise, 50-paise and L-rupee coins, There
are 220 coins in all and the totg] amount in
the piggy bank is ¥ 160. If there are thrice as
many l-rupee coins as there are 25-paise
coins, then what is the number of 50-paise
coins in the piggy bank ?
1) 45
(2) 40
(3) 60
4) 80
£3. Sekhar delivered a 20 litre solution of milk
and water in the ratio 8 : 2 to Bhaskar. |43
Bhaskar removed 10 litres from this, replaced
it with pure milk and delivered it to Karthik
and Karthik repeated this process and|
delivered it to Varun. What is the ratio of milk
and water in the solution received by Varun ?
1) 3:2
2 4:1
(8) T:8
4) 9:1
4. In a new year party, out of the total guests,

60% are women. If 80% of the guests are
married couples (form a pair of husband and
wife) and the rest are unmarried, then which

of the following statements are correct ?

1. All men are married.
II. More than .30% of women are
unmarried.

Select the correct answer using the codes

given below :

(1) Tonly

(2) IIonly

(3) BothIandII
(4) Neither I nor II

44.

NG €d), 5 areody & 26-30,
50-2oen 0 1-Greron S|
G o, @ONE  BInGo 220 ’
)00 B S} 2r08d” G
7 160, 25-IO JEID 0% 16
TN SrEBEY @50 ao.,,,
a0 &) 50-R0O  THO
20ed ?

s
ro.J:’; s

(1) 45
(2) 40
(3) 60
(4) 80

35 3:2 NS’ 70580 20 O Fey
8050 DS EORS (5T, HOE3 Tarch,
2736 @0 $0& 10 OO 8B,
T TS0 DS IS T $O B
T 6 edRoT DO 50§ &
ATTR)  DSTHeS0 B SBEK
0BOTTE). DD ORI (0

www.studybizz.eeg <8050 HeE3 DD Does ?

1 3:2
(2 4:1
3 7:3
4 9:1

£ Jo38y50 FES, Indo edod
60% OB NarFeN. 80% NOE BN
DTy Boddew  (rorgde 20T
GOEFPED) DO DA T DT aredeD
NS, & (808 ToRTEFOS DR HTIR ?
L HODNO0NEF Qararedd S,

IL 30% $0% 35 000 Loyl

DT areEN,
BHS BSAS FEOD SHABrA0D I
QIR JOTHEOR
(D ISredsd
(2) IS
(3)  IN6AW II Boky
(4)  T08a%w II Bodky 5°¢y
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45.

46.

| (3) Both are first cousins

417.

(21

In a kitchen rack, six boxes ar
top of another, The .
blue box. The purple

. kept one on
“y co1Q 1
ed box is just above the

box is betwee

P 3 N ' n th ) b v
and the green box, The vellow box is bc. tack
the red and the black boy If - Heen

numbered from 1 to from top t
the difference between thep
green and the red box is D -

the boxes are
0 bottom, then
osition of the
What is the value

of D3/2 7
(1 4
(2) 135
3) 05
(4) 32

Pointing at a boy in the photograph Bhargav
said, “The boy sitting on the left is the son of
the wife of the only son of the grandmother of
my younger brother.” What is the relation
between the boy in the photograph and
Bhargav ?

(1) Brothers
(2) Nephew and uncle

(4) Father’s brother www.study

Consider the following statements :

I. A Parallelogram having all the sides
equal is a Rhombus.

II. All the Rhombuses are Parallelograms,
but the reverse is not true.

III. A Rhombus may or may not be a Square,
but all Squares are Rhombuses.

Which among the above given statements are

correct ?

(1) TIandIIonly
(2) II and III only
(3) IandIIIonly

(4)  All the above

(5]

a8 Soernss XD, oES e DHew
28OV 2863 GodadEron. B DL
RO0 BY DS %06, EAar GO T8 Seody
DOAW e3B0D) DB NS GOB. HNY
DY DY HB0H SN RO s
GOO. DPen D Hod 8obE 1 Hod
6 S65 BDEHODDAES, GRDLY O
AR DY) TS0 NG D§TIR0 D. ©ONS
D3/2 Densd doeh ?

1 4
(2) 135
3) 05
(4) 32

2.8 TOSTASQS &), ©THON ST
rOS @er e, ‘BB S0
Yo 3B TN 2.8 TS 8y
s 78S St eSS &), @er)ons
208050 2FGS8 5§ OO0 el ?

1) e £

2) DS SHBOH S K — &/&
(3) DB FASFTEREN

4) So|d SEE

bizz.com
47, %808 |DEOSOD HBKeSoS0 |

L o) BT DIFSOMT 0B DIross
£5e8050)230 T°0DR ©:)EN0.

II. Q) 000N NVl Te!
HedeEre), TR ©) Qrosd
256585012370 T"0DVEN 576,

Il Coan SISO &o%sth) B
GOBEFIN) TR @) WHHD

00DEN.
28 2D HELIOS” D IBID ?
1) I005m IT Sre(edad
(2) II50605% I ST
3) 1005 I &S| ad
4) IV



48.

49.

50.

\ (22)
A n. electrica] linem
height 50 mete

rs to fix .
one minyte he Ix the wires, In the first

climb?d Up 5 meters, in the
he slippeq down by 2 meters.

D 4 meters, 12
(2) 39 meters, 11
(3) 36 meters, 16
(4) 42 meters, 18

Sandeep invested a - certain amount in
Reliance Infra Private Limited which offers
compound interest (compounded annually) at
5% p.a. and an amount equal to 50% of that
amount was invested in Reliance Jio, which
offers  compound interest (compounded

an has to climp p a pole of | 48.

49.

NRoSETIE 2.8 DOLEES S
By @) ROFORE g
D a8 Do’ 5 WO® BE Aayg,
O e B0 Ry
pasrd. @ S D8 TV I6%
NgaR) DSTBIS0 B, ST wy,
915 dpN0S 09 IHS'  Gotrg
Sy S D DTS ©g,

DY 28 ITO?

1) 41 ey, 12

@ 39 &, 11

3) 36 &P, 16

@) 42 e, 18

085 Fos ITR) O0ANS) Ay
235 OWBHES DEPAB DF®, 35
5% pa SEHITS0 SAD (OSSN 8§
9% HSBS) ©oHNOO N ¢
S0’ 50%8 DTS J0TR) Reliance
JioS YA DY, /O 10% pa

36
50 g o

annually) at 10% p.a. The duratio?udg/oizz oS0 SBD  (H0HebYTRE SQ &%

investment for both the conWMss

2 years. If the difference between the amount
received from both the companies is T 6,965,
what is the difference between the sums

invested in the two companies ?

(1) ¥ 7,000
(2) T 8,400
(3) T 7,900
4) T 6,600

Kalpana’s project report consists of 40 pages,
each of 75 lines with 80 characters in each
line. The lines are reduced to 70, but the

number of characters is increased to 95 per
line. What is the approximate change in the

number of pages ?

Ly —7he
@ -10%
@ -12%

W =us

50,

HOBS)  ©oANOB. To® oA
REPDE IO 2 QoIS TTen. & Bodh
50000 oG FodS I8 e
S$T800 T 6,965 @ONSB. € BOK $0HS
PG DES INTOE s¢§ BT D0 ?
(1) < 7,000

(2) 8,400
(3) % 17,900
(4) 6,600

SIS (B BFDS® 40 SyeSery ") O,
287 D08’ 80 g orerst 75 B &) oW.
283 Hodven QORI 708 80D, LT
Q0BS 2,8, H088 958 DOV I, e 859

Wy Do pomys sH38 SO
DAFET Jogh 9 |

D ~759
@)  -109
@) -199
@ 149
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52.

53.

™

G6/16/101 (23)
A, B and C are hired for o . P
Working together, A or a painting job.|51. 2.8 onoe3of HA E0 A, B 50050 C O

) and B can do a job in o, v =22y
12 days, B and C can do the same job in DotHZvTT) . A SO0 B 4D DA :33
Then how long will it take, if all of them work DA 8 SarersS ToHOB, A H6asw C
together to complete the job ? e 16 FerereS® Tahriedd. eT0ITYCR JJ;'O
7 50 Soh@dd woddr OV DD )
(1 3I§ days OSSO0 DO ?
7
@ 7-- days n 3 Beren
13
& L a (2) 7175 Faren
( 12 ° .
5 @) 8- Ozen
(4) 7— days 12
13 5
@ T Eeren
The letters of' the word ‘ENTRANCE’ are
arranged m such a way that all vowels are 52. ‘ENTRANCE’ o ;’JCSOQSSK) ) DD
always written together. How many such ways . & = SO iTren
of writing the word is possible ? A O™ T ' o
® 1080 B 0w, 0O RENS0E3  DAO
(TPONTTRE D), OTFED 5 50eYTON ?
(2) 1440 (1) 1080
(3) 1384 (2; 14;2
@ 1526 www.studybz%coﬁ%
If 12tF June, 2024 will be a Wedtrlllesday, then 53. 12 2™, 2024 20055780 00s, 19 33028,
what day of week will it be on 19 November, 20245 55‘6065‘ 9 &2 ©5e0d ?
?
2024 7 1) BTEO0
(1) Wednesday @2) b0
(2) Monday (3) Hado
(3) Thursday (4) Holigdo
(4) Tuesday 54, Goda a8 zg@‘o&eSG VOV INTY &3S’ dead

54.

Umesh is standing in a bus stand facing
the North-west direction. He turns 135°
anti-clockwise. After that he turns 45°
anti-clockwise. He finally turns 90° clockwise.
Which direction is he facing now ?

(1)  North-west
(2)  South-west
(3)  North-east
4 South-east

Sy . ) @S 135° OIS &3S
QSHE). & ST @D 45° IAPINYS
IS BSbErd. ©ds DIG% 90
55503 BHHEd. OB BYI® D
B3’ G0 ?

(1) O3NS
(2) e
(3) &
(4) en)cdH
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35.

56.

57.

(24)

If 8:92 x 4-15 x 769 x ? = 156567631 what

will come in the place of 2’ 9

(1 618

(2) 496

(3) 4-84

4) 55

Pawan appeared for examination in 5 subjects.
The maximum marks are the same for each
subject. His marks in these 5 subjects are in
the proportion 4 : 5 : 6 : 7 : 8 and overall he
scored 60%. In how many subjects did he score
less than 50% of the maximum marks ?

1 1

(2 2

3 3

o www.study

It takes Madhu 2t minutes to complete
Form-A which has k questions and 3t minutes
to complete Form-B which has k/Z questions.
If Madhu answers all the questions, how much
more time does he take on an average to
answer a Form-B question than he takes to

answer a Form-A question ?

(1) 2tk
(2) 8t/k
(8) 4t/k
4) t/k

55.

56.

0

8:92 x 4-15 x 769 x ? = 1565-67631 @JO;;;-L\&,‘

@ S0 ST DD Does ?

(1) 618
(2) 496
(3) 484
(4) 59

9558 5 HBHOS HOEH FREATD. (HS
JBEH KB S3¢dgen 28 DPOM GOLTow,
& 5 OBPOS’ @S Srdpen4:5:6:7:8
DS GTryon HOAN Lo @SH
60% )6 TFh. ©BH A OFPoS
B0 Srdee’ 50% FoT S¥S O

DA ?

(1) 1
2 2
3 3
bizz.66m 4
57. k |90 &) PEN-AD I8 TOH@E

SNEF 2t ATEN DO DB k/2
(D810 &) FE-B I8 TAHEDE 3t
QTN HHSH0B. D ©J) (DI
JAPTIVR, ©B3D FESD-A (DK
AP0 BIITAE SONT HKfen 0T
TOD-BFH QTS0 ANmE
PSTp AN 206 INISVY RN QA0
BNE0EFE) ?

(1) 2tk

(2) 8t/k

(3) 4t/k

4) t/k
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58.

59.

60.

1G/101

(25)

A professor of pharmaceutical sciences in hi

classroom defines that the ‘half-life of a druls
substance is the time period in which the drug
substance becomes just half of it. If it ii
known that the half-life of a drug Adrenaline
is 800 years, then after 3200 years, 1200 gm of
Adrenaline becomes X. Which of the following

is a possible value for the sum of all digits in
X?

Chandra is a confused typist. While typing the
numbers from 600 to 799 (both included), he
typed 8 wherever he was supposed to type 6.
Then the total number of times he had typed 8

1S :

www.studyb

(1) 180

(2) 230

(3) 320

(4) 300

Find the incorrect term in the given series :

193 140 97 62 35 16 5

(1) 62

2 97
(3) 140

(4) 193

58.

o]

2.8 FOPAF3ES VBN IFDI6 B3 TV
S THS dorgo T/oEy ©F AV
©0% & Hgo RS DO SF(H YOV
DNAH S35 @ DB FDOT . &IOS
TAGO TE) TN 800 HODSIT™ED
©oNd, 3200 Hossyore Sorsed 1200
IFS0e @SOS X ([rSne 99e0d.
808 78S’ X S'Q @) ®OZO &S
50T Desd IO ?

(1) 12

(2) 285

(3) 225

(4) 375

S0l KodSHFoS Gdy &8 BHY. 600
OB 799 S8 ) Do VD
BRS8N  (Bocs ZeN)SA), e9ehedd
6 LD TorOYS T 8 ©d WD DA,
)¢ @D 8 HODS D DD TR R[nedo

IZZ'C%I’BSQ,S :

60.

(1) 180
(2)
(3)
(4)

& (806 BIPAES FAS SPHImr &)
@03 Hdotdob :

230
320
300

193 140 97 62 35 16 5
(1) 62
(2) 97
(3) 140
(4) 193
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61.

62.

o

/101 (26)
Part B (i)
Science and Technology
Consider the following statements about,

ARTSENS device :

L. It is a novel, non-invasive device to
assess the health and age of the neurons
and thereby provide early screening for

central nervous system diseases,

II.  ARTSENS device was developed by the
National Institute of Mental Health and
Neuro-Sciences (NIMHANS).

III. ARTSENS device is powered by aj
proprietary non-imaging probe and an

intelligent computing platform.

Which among the above statements is/are

incorrect ?

(1) TandII

61.

8 B ()
285) @0b Vs O

ARTSENS 6880 HooD) & (Eoa
(DEOIOD HBHES050E

26 Sriord esbiio 00 el
$0HA)KH @OoWA® JANEVE DO
ST BolS VB S§9Y TEVOK

L.

0058  (DQ0f @0l0BEE
SHTIENE 2.8 S350, TS-BI IS
HBEYo.

ARTSENS JBET) JASS
aSETS @D DotdS Y @ok
SrsE-RRID  (NIMHANS)  @0D598
T0R.

III. ARTSENS  H8%%0 DTS
TR-202200 (S RVeleww!
20VOB0E  foJse3oh TS
o S0° 85050 TODVAR0A.

IL

www.studybizzeagersesS* DO/ e85 ?

(2) II and III
(3) IandIII

(4) IIonmly

A multimodal Al tool that can respond in 11
Indian languages developed indigenously by
i3haratGPT ecosystem and Seetha
Mahalakshmi Healthcare (SML) is :

(1) Krutrim
(2) Bhashini

(3) OpenHathi

(4) Hanooman

62.

1) 159605 I
@ I 80w 111
3) 130805 I

@) ISR

28 2813 (BharatGPT) 5550 08050 Hew
0§ DB (SML) orsor TIoHom
©DIYD TAHDA 11 7SRO e
DB3)000HO HYTFSS Al ST
8od0e ?

(1) Krutrim

(2)  Bhashini

(3) OpenHathi

(4) Hanooman—"

\
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65.

s

NITL Aayog's *M

4 A s "Methanol e '

: ¢ onomy ST

15 aimed at : Omy” programme

L. Reducing India’s oil import bill,

1. ‘l:l:\:ll:t,t:::: Greenhouse  Gas  (GHG)

111 (‘m‘\\'m‘ting coal reserves and municipal
solid waste into methanol.

::\l:\:ltb:::):\ ::m‘recl answer using  the codes

(1)  land Il only

(2) 1l and IIT only

(3) 1and III only

(4) I,IIandIII

Which among the following acts as a nodal
agency for sourcing of the Aarogya Maitri
Cubes developed indigenously under Project
BHISHM ?

(1) HLL Lifecare Limited

(2) Indian Drugs and Pharmaceuticals
Limited

(3) Emergent Medi-Tech India Pyt WYe8tY

(4) Biosurge Healthcare India Pvt Limited

Which of the following statement is correct
regarding ‘Tmpatiens Karuppusamyi’, seen in
the news recently ?

(1) A new aquatic flora discovered by the
National Institute of Oceanography
(NIO) in Thamirabarani river of Tamil
Nadu.

(2) A new species of Hoof fungus grown on
plant  species discovered by  the
Botanical Survey of India (BSI) in
Sathyamangalam Tiger Reserve.

(3) A new species of Bamboo-dwelling bat
discovered by Zoological Survey of India
(ZSI) in Madumalai Tiger Reserve.

(4) A new species of plant discovered by
researchers of Botanical Survey of India
(BSI) in Kalakad Mundanthurai Tiger

o) 1G/101
(27 )

Reserve.

6G3.

64.

65.

oo

O esairl  Gwnsy,  enderd 5HeY’

5* G5 8a00 G3Ng), "f}f,',"l“n(“/‘i’u,',f/',",;

. ?,T‘(IH'EC’:"J 00y Litndnes 2 g__uﬂ;
N0,

I, B&H™0 oo (GHG) PP RO DLV
RO 0.

HL ShH dogen 58050 S0RINE 0

55T DS 3G HG0.
BH% BB s6S Fhod GHOIrAod HDS
DAFTTR), HOLHT O :
(1) 1 So8asw I Se@SX
@) TI 5805 I &5{ehadd
@) 16050 IT 33
@) 1118050 I % -
>=§ BHISHM 808 B8c%0m ©@DIIR
TS By D RTAISIN D0ETE )0
€50 & 800 o8S IO S8 DBy
DTN ?
(1) HLL 896 OD&
2 RoAcHS |6y @ok odrsessS)

OMBEB
dybiz@)copﬁ‘;ﬁ)@odﬁ E-BE BOAAF D8
Od
@) 23f wISE B0 D&
DR\Ale '

0HAS) BB 2% T8

k020000, & (Bod &8S @8

50250800 HBA (DEEID DO ?

(1) SFTHSRD TS0 Nao)
FASS ST 8 A
(NIO) D), Féb 230 998.25°0.

@) DSssonso Wb 6285S SerQES
905 . &9 wokdy (BSD OO
EOFIDAES S8, ereéhon OO
270D DOKR BE), T 2red.

@) SHcoHs 6 6zbsS wrerasd
HBs ©D oddsy (ZSDH =IO
ENFIDES T arad IO D
(8))e0. ‘

@) Eo%6 0050&Bos Wb 82658

L SerdES $85 eh @oddsr (BSD
HBFEED EOFS), T 23S I3y
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66.

67.

(28)

Consider the following statements regarding
Global  Shield Risks
initiative :

against  Climate

1 Global Shield against Climate Risks
initiative was launched at COP27 and it

iIs a collaboration between the
Vulnerable Twenty (V20) group, the
Group of Seven (G7) and other

supporting countries.

I.  The Global Shield will
protection for vulnerable people and
countries by substantially enhancing

Climate and Disaster Risk Finance and
Insurance (CDRFI).

increase

Which among the above statements is/are
incorrect ?

(1) TIomly

(2) IIonly

(3) BothIand]II

www.studybi

(4) None of the above

Which among the following in India have been
named as ‘Hope Spots’ by the International
Union for Conservation of Nature (IUCN) and

Mission Blue ?

Lakshadwe;ep Islands and Raghopur
Diyara Island

(1)

Andaman and Nicobar Islands and
Keibul Lamjao Island

(2)

Andaman and Nicobar Islands and Diu
Island

(3)

(4) Lakshadweep Islands and Andaman and

Nicobar Islands

66.

|

[)\
DATErOR H$BBIOM ey \

(o] 2)
TN 5S% Ho0HOD & Sog !

9% Bad

?)zefé;m 58Ke30508

[ TS0 mewoésﬂa 558880,

| omen T3 B8 29 o g
Sensend 20 (V20) D, 05
=35 (G7) SHBAW  ASS Ty
SirsG0S COP2TS FE0DoSE0

L B26 2 9RO IR Sy,

o 00 AsSvay
A e~ R el 3E  wos
808 Oy ROR) 0§

2&r)BSICDRFD) & $0° (eI N0
@DSYO  HOAW O 85

EOHN0B.
2) 1HEOSOES IO/ €8a.) ?

1) ISreD
(z% IT S7°(ehadd
@) 10005 IT Bodks
67. OAOVYAIS ATFIAHNS DB EIVAS &

S8 (IUCN) H80) 1AS 2 50
rESTIOS & (808 ¢3S DD D

IO DTS2 ?
1) 8855 AYenw HBaky ooryd
dasror &0

(2 ©0SIrS JFerE  ASJen oA
8aS errS & $H0

VORIFS IS AYen HOO

@ OB Aner soos wodd
N85 AYen

(3)
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69.

L

(29)

Consider the following

x statements regardi
Conference of Pg § regarding

wrties to the Conventic

i i :ntion on the
Conservation of I\’Ing'aLm-y Species of‘) W;;
Animals (CMS COP14) - ‘ '

Y } -
L The 14™ session of CMS COP14 was
held from 12" to 17th Rebryary, 2024 at
Samarkand, Uzbekistan. ,

IL; ’I;lhe CIJMS C‘SJP.14 was convened under
the slogan “Migratory species connect
the planet and we welcome them home”.

1. CMS COPl4 was

MS : the first global
biodiversity gathering since the adoption

of the Global Biodiversity F
Sy v Framework

Which among the above statements are
correct ?

(1) TandII

(2) IandIII

(8) IIandIII

(4)  All the above

Consider the following statements regarding
GSAT-N2 :

I. It is the first demand dﬁ"eWWLiig
mission that is fully funded and owne
by New Space India Limited (NSIL).

II. GSAT-N2 satellite will be lifted by using
SpaceX’s Falcon-9 rocket and 1is
scheduled in the 24 quarter of 2025.

III. The collaboration of NSIL with SpaceX

was made due to the current limitation
of India’s rockets, which are lacking in
the capacity to lift large communication
satellites.

Which among the above given statements are
correct ?

(1)
(2)
3)
(4)

Iand IT
IT and 111
Land I11

LIl and 111

68.

69.

@]

5518508 e Dt L0 @R 239

@A5E ) (CMS COP14) B 8o $873708

BomoBoD & 1808 B80SO

HBHBOBOE |

. CMS COPl4 G30%) 140 RAS 2024
DS 12 &Hod 17 HO &B8TS
S 556806 26H0O.

II.  CMS COPl4 DS DD 835 &
DBE @06 D By FO WD o3
DT SB0S HITFBIO0.

III. CMS COP14, B225 HTBTTHOYES o
363 (GBF)-2022:0 &3rOODS o ged
=B85 DG  (DD0D  BIBIRS
PNRETo)

2 DELIOS” D HBID ?

(1) 18I

(2) 1805w III

(3) TI 0808 III

@) DI,

GSAT-N28 502006500 & 1808 DEEISOD

HBK3008%

L 3 &g 0 2060 OWWE
(NSIL)8 By JrOmr Qe INVeJo V)

dybizz.comsressarads POISNPESN EOAS
SnLBndE dSrol errdd |
DAS.

II. GSAT-N2 &0 SpaceX 308y
FenS-9 088 o & DoAS'8
DodT) D SHBG 2025 28
1BIr2E0S 2 WErsS TEHDGOO.

0L rdsTios  ord  EmTAS
SEHETOLH BNTE TNP0 G
oS BI0NS NSIL & (2330
€50  SpaceX ~O3E)y  darsdo
B0H0EN08.

23 A0S (HEOIOS” A HTPID ?

(1) I8 II

2) I8 IIIl)(

(8) I08a% I

4) 1,11 8% I
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70.

( 30 )
Lo il R K M
' . = : " i by 40500) o) O0TEd LK IS
Consider the following statementy - 70, e Bals 16505005
¢ s
j’(ﬁ)r\jl i /3.,/),3/’f//f/ e50,5 r770 ’,44“
Y » » . M YT 5 N %
Statement [ : India hag tremendous Solar [o
p 2255 .
i WAL P fv"‘rJ/ s o 1gVs
POWEr generation potentiy), €56, )02 (J0d)Y
4 7 oo Lot
= 2,5 30cis 7,
. 4 v < . ol ,QC“,,Q"J [ <M 99
India experiences clear sunny (0SS : 270057

Statement I :

Select the correct answer using the codes

given below :

(1)

(2)

(3)

(4)

weather for 250 ¢ 300 days
per year and this exposure to
the Sun is estimated to he
worth 5000 Tn kilowatt hour of
energy in a year over India’s

land area.

Statement I and StatemeYWW %Lé(
correct and Statement II is the correct

explanation for Statement I.

Statement I and Statement II are
correct, but Statement II is not the

correct explanation for Statement I.

¥

Statement I is correct, but Statement II

is incorrect.

Statement I is incorrect, but Statement

(2)

(3)

II is correct.

(4)

(Tn kilowatt hour).

D O 5508 SBe® evarROD s

QTR oSS

(DFOS T HBAW (D82S T HTS2
DOAW (DEOS T & (HEES I STol
EANTeta

(DSOS T 5805 1H8Ere T1 QB I,
(5E0S T & (58ere5 11 QTS DS&ea 57

DSOS TOBIA, £ (BEeS T 2.

D3OS T 5y3, 5:0) (D8ES 1T HBSA
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Consider the following statements about Seed
s S

Vaults

L. Svalbard Global Seed Vault s a facility

Norwegian  Spitsbe rgen
and it is the

secure seed storage vault,

on a remote

Island,
world’s largest

lI.  India’s Seed Vault ig
high-altitude mountain

Chang La in Ladakh.

located in a

pass on the

III.  Indian Seed Vault is a joint venture of

National of Plant Genetic

Resources and the Defence Institute of
High Altitude Research.

Bureau

Which among the above statements is/are
incorrect ?

(1) IandII only

(2) IandIII only

(3) IIonly

(4) None of the above

www.st

Identify the new sites in India added to the
list qf Ramsar sites on the eve of World

Wetland Day 2024 :

L Karaivetti Bird Sanctuary

II. Thol Lake Wildlife Sanctuary

III. Pichvaram Mangrove

IV. Magadi Kere Conservation Reserve
V. Bhindawas Wildlife Sanctuary
Select the correct answer using the codes
given below :
(1) IandIII only
(2) IIand IV only
(3) IandIV only
(4) TandV only

71.

)

72.

D
I,

(]
a)ed e P2 (8 3 ) Kb & A
- 7 0 G Bo6
a(.)q\)(_.)( 3« )(_l)(lﬁﬁ(_)’,)(j(l 8
v oS ovu b ik N o)
oJ “fbd;'b 2y s oGl S 2 O3%3C
- "> . 0, vJ

O3 0 SR 00N

. o, ¢ -4
&.SKJOO 00" j(,)) L\JO)JC;'J 28008
£ s gy

d

L .
a3

&Dé&é@)c{) e (76@25 oJ Q)

rESTI0 By & T @dw)uu
Tof ereS B HO5B SrGo, HO
GOB.

IT;

III. R080HS D& O @I JASS
arS @D Fod BILE 0TV
DB ADS) TS @D
r-ears® 80) SocswEorr
R80TTOW.

28 DI DELSOES” AB/DD 89 ?

(1) I08aW II S(ebad

(2) 1005w III S| ebadoe”

(3) II&Sr(ehad

1dybiZ)comaa S0

D200 DSE Joo OSSN0 2024
H0&%S)0™ Db B e TS
SBoNDAY  rOSBIoSR  ([oTON
800k -
L 3338 HPo BA8rdeago
L 8O D80 S5 rene e92airdeaso
L DHSE0 s o)W
IV. 56 30 30050 02308
V. o S§arene eoiasrdeaso
B%S BS50AS FROD GAT/rA0D B
DIFTTR), JOTNTO :
1) IO IIT SR
2)  II0005N IV Sr(edad
3) 1805 IV Sread v

4) I08A V Sr(edad
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73.

74.

statements about

Consider the following
‘Women Engineered SATellite’ (WESAT) :

L. WESAT is the first Indian satellite to be
fully designed and developed by women
students of Lal Shastri
Institute of Technology for Women,

Bahadur

Kerala.

II.  WESAT was launched aboard the
PSLV-C58/XPoSAT Mission ag
of the secondary payloads
15t January, 2024,

one
on

WESAT is meant to study how rainfall
refills underground water in rural areas
of India.

III.

Which among the above statements are
correct ? . ‘

(1)  IandII only

(2)  II and III only www.studybi
(3)  Iand III only

(4)  All the above

Which among the following is the world’s first
country to propose a tax for agricultural

emissions to achieve the emission reduction

target by 2050 ?

(32)

(1) New Zealand
(2) Mexico

(3) Brazil

(4) Argentina

73.

74.

@
‘GDA R0RAY 73BT (WESAT) 80, .
80 (HELS8 D800k : '

L b alrdrd 70 addewr:ds &
o H5 GBS, ESD gy,
AorsHoT O SrErotozs, «
DNOAHL @DSHE TADH2ES Inge

2PEB0% G| 570 WESAT.

IL 1 2858, 20248 8038 DSEes
2.8¢mr  PSLV-C58/XPoSAT  ASE

WESAT (H33rAotdn&08.

I rés$BS50SD  (re  ([owd
SEJS0  BrHS)  BOOLD  dey
QOYHOE  @B0HS0  TAHEE
IS (WESAT) &B30090308.

D HEOSOSS” DD HDID ?

(1) 15805 I oﬁs-Lé;fo/V
z7Z.com

(2)  IIodakn IIT Sy(ebsh

3) T8 ITI Sy |essH

2583”

4)

& 808 ¢35 2050 yese GES $fod
OTIN) FOOTOHE S5530% GTTOR

D) DOOT (DSE0DI
(D00 Inese3 Fo HA 2

(1 Srggeros

(2) 8§

3)  (BS

(4) ol
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75

76.

(3
the

Garbhini-GAR .

(‘onsider ' '
ollowing  statementy nbout

L. It is the first Indin-specific Artificial

Intelligence (AD model which accurate

ly
determines

the fetus in

age of a
pregnant women in the second and third
trimesters.

II.  Garbhini-GA2 was developed by the
researchers at the Indian Institute of
Technology, Madras and Translational
Health Science and Technology Institute

(THSTI), Faridabad.

Which among the above statements is/are

correct ?

(1) Tonly
(2) IIonly
Www. st
(3) BothIandlII
(4) None of the above

Identify India’s first indigenously developed
CAR-T cell therapy for which Central Drugs
Standard Control Organization (CDSCO)

granted market approval :

3)

(1) NexCAR19

(2) TECARTUS

(3) IND YESCARTA
(4) BREYANZI-BH

6.

76.

(©]

s ‘¢ <,
{oJ LLATSTDTINN

Garbhini-GA2  HBod
0ONeB0 B0

Bo&

. 28 Boks  OB0%n s
BSragods #8)8 |R0E oGO
- Gwsy SO YD AR eleN
Nonod DG rdacH-d8a
&1 DS T (A IrcdS.

1. Garbhini-GA2 O B0BOHS aSVErSE
e B F, TR SO RN
BAIS G 8) @08 V) 0d A
NergeS  (THSTD), HBerHS'

$565%5%0en 08N TFTH.
2 DEOSOS” QB DB ?
(1) I3

(2) II S

1dybizz,copy, a5 11 Bodkr——

4) ID D

ol TAG DIrETe  AoHo|Se HOR
(CDSCO), &rBp e3reo  &odd
rESTI0 Ty JGRNDE BI0%0rr
9DS)0 THDAS CART 6 BED
%80w508 :

(1) NexCAR19

(2) TECARTUS /
(3) IND YESCARTA
(4) BREYANZI-BH
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.

Counsider the following statements about the
indigenous Green propulsion system that was
successfully demonstrated in space on ISRO’s
PSLV-C58 mission :

L It was developed by Bellatrix Aerospace
Private Limited under the Technology
Development Fund scheme of DRDO.

II. Green
innovative

propulsion system is an
technology which is a
non-toxic and environmentally-friendly

propulsion system for low orhit space.

IIT.  Green propulsion system is ideal for
Space missions with high thrust
requirement.

Which among the above statements are

correct ?

(1) IandIIonly www.stu
(2) II and III only

(3) Iand III only

(4)  All the above

Energy Development

Indian Renewable
signed a

Agency Ltd (IREDA)
Memorandum of Understanding (MOU) for

innovation and research in the renewable

has

energy sector with :

(1) IIT Madras

(20 T Guwabhati

(3) IIT Bhubaneswar
(4) IIT Bombay

(34)

77.

78.

0

ISRO G3w&y, PSLV-C58 DRSS’ ©OBB 0

2308500 (56580908 B2 s
(FHDS DY %800 & (808 (D8&Sey,

56530508

. A3 DRDO W& DSz
BsoHD0oS Hob&  HBO  (Sog
Ber|35) DTRIR 1DIE OvE
©98SHB BROB.

BS (FHRS DY @30 2.8 DIre)

11. ’
oBDEeS, S50y 88§ YOO (Low orbit
space) S SHBRHIT T Er§)§
308a5» D05 BE-eDETO (IS
205

L (AS  |P0RQ DO B 1B
oIJTOS @005  Ar@of
INVSINIAY

2) HEOIOS” D DBID ?

lybizz.com

(1) Is605 II Sr(edad

(2) 110050 IIT s55°(¢53

(8) 10805 III S35

(4)_~3Q),

R0BANS BITsd2nS INE BIO>DHD0ES
D2 ONBE (IREDA) DT Y5 ROBS
SoiosS” e Ben  SHB DBF S
S0 & (808 o8BS ZIS esmd
2:0)000 (MOU)D H0e%0 FH08 -

1) 202 oy
8093 35353

€3 2DITH 5

)
(3)

4) o268 2ro53
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79.  Consider the following statements :

L. India retaine
4 retained  the 40th position in

Glob: ‘ati

G 1l .lnnm ation Index among the top
innovative economies globally as per
Al = )
Global Innovation Index (GII) 2023

II.  As per WIPO Report 2022, India is
x:m*wd at 7th position in terms of
Resident Patent Filing activity in the
world.

III.  India improved its ranking to goth
position in 2023 from 79" position in

2019 as per Network Readiness Index
(NRI) 2023 Report.

IV. India secured 42" position out of the
55 countries in the Global Intellectual
Property Index 2024 as per the 12th
edition of International Intellectual
Property Index.

Which among the above statements are
incorrect ?

(1) L IIandIV
(2) II,III and IV

(3) II and IV only www.stl

(4) None of the above

India’s indigenous Prototype Fast Breeder
Reactor (PFBR) of 500 MWe capacity at
Kalapakkam was developed by :

(1) Bhabha Atomic Research Centre
(BARC)

(2) Central Institute of Mining and Fuel
. Research (CIMFR)

(3) Indira Gandhi Centre for Atomic
Research (IGCAR)

(4) Bharatiya Nabhikiya Vidyut Nigam
Limited (BHAVINI)

(35)

79.

80.

(o]

&a [SUC) L{i)f;(l,)t\lJf.‘J(\Iu HBABBOSO0 -

L ol a8y 368 2085, (GI) 2023
W0 Fad ad)Hmas woms S
2640 PN 4085 FRY
QENYH0E.

II. WIPO JIOE 2022 (HSE0, (HH0H0E"
B2@ToeS Bodd doh sosararw
DEOMT 2rESTI0 75 TS0 God.

III. IE556; B8ASD @oTBS) (NRI) 2023
JBOE (HSG0 arBSTFO 2019 T°E3 79

b0 Srod 20238 605 FIE TO
&S 07508000 DBANOLNEL0E.

IV. 2008386 20BBHIS o8
2035y 125 ABAS D50 Bd
QoBBEISS HE B0oBE) 20248 55
Sros rosTso 428 FOR)

Fobodb.
D DEOIOS” D ). ?
(1) I, I8 IV
(2) 11, ITII 8% IV

Idybizz.com

(3) IIBAM IV Sr|edad

(}/)/ e 578

)80 SG 500 MWe 0@s0 fie> 2 BHTH
D582 |ESVD e DS dOrED (PFBR)
20 I3H0 TRS NOQ IO ?

(1 orer otrE 8 0D (BARC)

(2) 0O ¥ LTS & AR @k
J30DS 886, (CIMFR)

3) =080 mod VoD $HO @erids
86 (IGCAR)

(4) 2rOB0H THIH IS e
OWBE (BHAVINI)
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81,

82.

83.

( 3t

:\mung the

e, | following, identity  the  lead

s 'hi

ll(\ll)ulmn» which are in collaboration with

4 T( Laboratory as a part of LIGO-India

project

L. lnstitute for Plasma Research (IPR),
Gandhinagar

Il Kepler's Observatory &  Research
Centre, Haryana

1 < Sy

11 Inter-University Centre for Astronomy
and Astrophysics (IUCAA), Pune

IV.  Raja Ramanna Center for Advanced
Technology (RRCAT), Indore

\T

Indian Institute of Space Science and
Technology, Thiruvananthapuram

Select the correct answer using the codes
given below :

(1) I,IIand III
(2) ILIIIandV
(3) I, IIIandIV
(4) II,IIIand IV

Identify th ft deployed hy,the N
entify the spacecraft deploye ‘gﬁlﬂﬁv cﬁl}aﬁ‘

to study the physical changes in ao0s

asteroid which will be nearing the Earth’s
orbit by 2029 :

(1) OSIRIS-APEX
(2) New Shepard
(3) Voskhod

(4) Pioneer 13

Who among the following is the first Indian
woman to get a Ph.D. in a science discipline ?

i)

HBl.

82.

(1) Kamala Sohonie

(2) Anandibai Joshee

(3) Janaki Ammal

(4) Maharani Chakravorty

/DIZZ LM%y 111er 58006 2TBE I3 O

83.

» | A3 K 0k
anA JAE, LIGO-India &I &0 tye,

& (500 7= . Ly G pes

HeJ (.)".',')"(3(:)6 IO R

11G RN aTe

.1“ (‘”(;2(_):,)() D .

‘<)(_}4';)('.)| .

. BB, apy

5 s
ad).Lrse 0
n"Qé_') &S00

o 4 .

O ONToN

1. '5!0&)5-05.15’5)656,)63 ) 5: pe)b o
w|ardsy @ob | F P8 (IUCA,
Ed

[V. o2 TW0R) 25008 DO OTE
sy o2 (RRCAT), 20860

v 208098 asersS e CARERSS

‘ @08 B OB, B%0530e5HB0

BHS assBS SHON EHBTAOD) DBS

BITTER), DOTHEOE :

(1) LII SHdosw I

(2) ILIII N8V

(3) I III SHBA IV

(4) II,III B IV

2029 °¢38 25T EE 5% DBHSIS &) TG

©30H800 TR NASA Ty IV (SR
8050é :

(1) OSIRIS-APEX<~
(2) New Shepard

(3)  Voskhod

(4) Pioneer 13

& 500 38 1] VerKos PhD. 0B

T0CIES 2SN 533 DBy 2
1) SDer Fned

@) sdoderon £ .~

3) S8 esryer.

@) oy SE50

___—
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85.

The

smart,

biodegradable, natural

polymer-based nanoparticles from renewable
resources for treating colorectal cancer were
developed by researchers of :

(1

(2)

3)

(4)

Indian Institute of Technology, Mandi
Indian Institute of Technology, Bombay
Indian Institute of Technology, Madras

Indian Institute of Science Education
and Research (IISER), Tirupati

Consider the following statements regarding
Sun Halo :

L

I11.

Sun Halo is an optical phenomenon that

occurs due to sunlight refracting in

millions of hexagonal ice crystals

suspended in the atmosphere.

Sun Halo takes the form of a %‘é’%&tu
radius of approximately 22 degrees

around the Sun.

Sun Halo is specifically produced by
cumulonimbus clouds, which are thin,

detached hair-like clouds.

Which among the above statements is/are

correct ?

(1) IandIIonly
(2) 1IIonly

(3) 1IandIII only
(4) II and III only

(37)

84,

(4)

85.

L

IL.

(1)
(2)

(3)
(4)

2 8

(©]

ESTES sy D8eby SO0 e 1058
SSBe  Holk b,
FBOSES FOB-ar8eh TS IHED 5 @)

IV A B A o
Q(JL'C‘?\‘”(A'!/'.&J('):

D05 Ben @85yl BT

(1) OGOV 2 )5 )
BE ere, ok

2 R0&BOH 2L D)
BE) ere, 270

3) BOBODS EEARNAIION &S

BE) e, DT

208058 BAYLTIE 8D VI
JeBAS @0k B850 (IISER),
F2Yor el Rl

45 SR 5020800 & (808 (DI
HBKe30505 -

45 S D6 TEI00s BOTTE
DOCHY AEHE HOTH H)BsOS

NIRRT e leTelty

Qrdgsroe

Hybizz.comozoT 2.8 RS Sof 0Do0.

DS HFS QrGIQ ey Qrdd 22
fio asrgod 8o Grard),
BNE0EN08. |

55 TS 1HSEor SIS 0D
DIre 00 G5B TOHARH0H,
29 HIYTF, B TaHads Solensed
er0é3 Do,

238 BN DELIOS” DAY DY ?

I 805 IT &S|
IT S ehadd

I 20805 T Sw(ebad
T 805 I S
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86.

87.

Consider the fi .
SIqerthe ‘U“O\\'mg statements :

Statement 1:  (Car . Y
w1:  Coral reefs are often called the

‘Rainforests of the Sea’.

State ; :

otatement I1 ;- Coral reefs break the power of
the waves during storms and
hurricanes, thus preventing
coastal erosion.

S.elect, the correct answer using the codes

given below :

(1) Statement I and Statement II are
correct and Statement II is the correct
explanation for Statement I

(2) Statement I and Statement II are
correct, but Statement II is not the
correct explanation for Statement I

(3) Statement I is correct, but Statement II |

is incorrect
(4) Statement 1 is incorrect, but

Statement II is correct

Consider the following statements regarding
30 by 30 initiative :

www.study

I 30 by 30 is a global initiative for

governments for ensuring that at least

30% of the energy requirements should
be met by renewable sources by 2030 to

achieve Net Zero target.

II. 30 by 30 initiative was launched by High
Ambition Coalition (HAC) for Nature
and People.

III. India is the first among the BRICS
countries to join the High Ambition

Coalition (HAC).

Which among the above statements are
correct ?

(1) IandIIonly
(2) 1II and III only
(3) Iand III only

(38)

bizz.com

(4)  All the above

o/

&1 (805 (DELSOD HBHB0I0Cs

Hichad) YO SET B8

0 @9 O 2y €9Q DNy,

D - D5k H)eN

(BEOSII : zgi?i)oﬁ oo 80 Hbay,
SO DDIN)0 3@"%
o 5o BE TS dTBW0E,

DB EHOS GOOrA0D B

(DSOS :

N
o

BMHS QeI
BIPTR) JochHsod :

B T S0a @IS T 838
$H8a5 (DELS T 8 (D80S II OB

DB

(HEOS T HOAW DEOS 1T OB
$58050 (HEOS I 8 (D8 IT OB
D580 sPeh 2

HEOS T BB, 5 (DEQS 1T &)

(1)
(2)

(3)

(4)
30 B 30 WON Ho20H00) & (§od
(HELSD HOKEIOIO :

30 B 30 30 JEG #8 o853

B0 ERE 2030 °¢38 EH0 30% 8

@IJTOD DHIBDTYRE I

sor STYO AT B0HESE8

(DT 5 TR0 2.8 (DD0TS WO,

II. 30 23 30:5°5& 3 ASrodAS FoHOID
(HAC) H6 S0 @08 S oo
rS0D0IDE0A.

Il 37 @0dAS FohdIS (HAC)S' TS
1D5) BFS 2ar8ST50 IO,

D (DEOIOS” A IBIS ?
(1) T80 II S(e55H
(2)  II O IIT S|

3) T8 ITT L(e53
(4) 3)&3§)Q e

DES T 8, SR (DES II OBIE

L.




GS/16/101 (49) ({7
a8, ldv‘nill:\' the  Bioswphere  Rosorvon in Indin, | g8, 6000 Py, (UNBECO)Y Gty Lrl asels
\;\ll"\‘::) :ll'n‘ s I"“" “r Nh”l “"‘l “i("‘[llll'l'n .’,)l“ﬁ"?u;' /lu’; (M/\”) ',"/I/,',l',n.’u':"’zl' 45,,"/'.', ',",
(V4 rogramme “‘ l'Nl“h( () H i',)"(-/'t"'/f.?'lil ;"’)":u) ot );'J":.)J’ J’;;)/ /', ), L) ’,;
1. Nokrek Biosphere Roesorve OO0 ?
11. Cold Desort Biosphere Rosorve s 188 w030 50 Ouli
1. Khangehendzonga Biosphere Reserve 1. ".""F DAY 230805 U izt
IV.  Dibru-Saikhowa Biosphore Reserve [ o SEE O 2G5 b Oel g
V.  Great Rann ol Kuteh Biosphere Reserve IV, oy gorfi s axismes yuils Bakh;
Seleet the correct answer using the codes V. 0 08 esh) 68 2t il Bl
given helow : A B Lheh sy GHOsrhol) ",,’1:',
(1 I, IT and IV Qe ,,'J'(')'« D), 6l DO
(2) 11, 1l and IV (1) I, 1 enbasn IV
@3) L IVandV (2) I, T o565 v~
(3 V &nbos:
() 1,IVandV LI siocay
4) 11, 1V &nbosn V
. .. b9 4o ¢ % Q) oy /;'l' "y L 8.1 7o
89. Which of the following state’s online civic tax 89. @adddHe & 1506 o) 0900 w5y 40
payment software suffered a cyber-attack D), BDoG Bt pub-crdh Doty ?
. 9
recently ? (1) B 19
(1) Madhya Pradesh www.studybizz.com
2) 26w -
(2) Odisha ) .
: (3)  ¢hE (HT
(3) Uttar Pradesh
. (4) SNDTCH
(4) Tamil Nadu
90. AIO0E e o) wols Bz e (DST)
oAt y b o v ¥
: c eo” & (808 T3 o) SOLEH0 c3rd0hh
90. Which of the following programme by the f LJ_‘ ) ':_ MF i
p =1 o - R %3 r a —-;i DA
Department of Science and Technology (DST) NarY” F(NWDLED, W, WOl T i
: s L F A 2.9 « 7
is to encourage and support senior women H0VOBONS  B0erE Eesh CCW 256
scientists  to  conduct  research  in HBFBS DAL f,ﬁ;f:,oi;; O
interdisciplinary ~areas of science and (85 )08 Srsrobotietots ?
technology ?
(1) INSPIRE-SHE
(1) INSPIRE-SHE
(2) GATI
@  GATI /
(3) SERB-POWER (3) SERB-POWER
4 WiDUshr (4) WIDUSHI ~
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91.

92.

93.

Current Events of Regional, National and

(40 )
Part B (ii)

International Im portance

[0 == SRUME

565 D50 J.f)ﬁlé‘bi);)

\ (
{ '
WL

a5 B (i) i
egi) 6&(665 ’ ﬁh&’)c’j :l)() P \

I ) (SEE]T «
2038, (8] K1) 2055,

Consider the following statements re i
" : statements regarding | 91. : Dy
State Energy Efficiency Index (SEEI) 28:;:]3( :mk HonoHod & 8O0 DSeae,,
l. l’ ‘11 s lc N Ny . - VA O& . e ’
s\;:l;:;d:‘)&f' '8 the Lop performing state in Qémﬁg(:;? s5% SEEI 20238 30E0 1008 1,
«1 2023 with an overall score of 865 L 2 e5eehed  nnd
out of 100. 865 68 @g) é,)*a‘o oy R
i RO J
II.  Assam and Uttar Pradesh are in the SRIEIG L O"l§0 @S0 (Achi
‘Achiever’ category in SEEI 2023, 1. SEEL 2023 J08050 ege‘_é@l%v:r
III.  Andhra Pradesh is in the ‘Front runner’ 30n6S @0 =A0d
category in SEEI 2023. Co7), 0. v
; HTT DS B¢
Which among the above statements are III.. SEEI 2023¢ @oLC,ﬁLng &%& 66“‘“
correct ? (Front runner) Do :
(1) IandII 2 HEOIOS DD DBID ?
(2) II and III (1) 108050 Il
(3) IandIII (2 IIn0csw IIT
(4) I, and III (3) T80 I
(4) 1,11 08605% III
‘Sangam : Digital Twin’, recently seen in the|gg. =eiSe> T3S EINDODS ‘DoHO : ®ETA)
news, is an initiative of which Department of 35S & 1800 T3 wééﬁ%?{g) PORPATA TS
Indier Tog), ES ?
(1)  Department of Telecommunications 1) AEDoS e BOENTINTAS)
(2) Western Naval Command @) DOSS IIS E5r0s
(3) Eastern Naval Co.mmand . @) &IES IS ssr0h
(4) Department of Science and Technology bizz. déim &G0 eD 25 @005 ?JS";Q)&-\

Consider the following statements :

L

IT.

Which among the -above statements is/are

correct ?

(1) Ionly

(2) IIonly

(3) BothlI and II

(4)

None of the above

www.study

Indian Naval ships Cheetah, Guldar and
Magar were decommissioned on th}“
January, 2024. The decommissioning
event was conducted at Lakshadweep.

INS Imphal, a Project 15B stealth
guided missile  destroyer  was
commissioned into the Indian Navy at
an immersion ceremony held at the
Naval Dockyard, Mumbai on December

262 2023.

93.

881808 (DEEID HBKeS0S0 :

L

I1.

oS JdY JEen Ve, KHerd
NBA DB 12 283558, 2024 28
SRF0 NOG GDS0ITBOTHDF .
088D &HHoT S 5851800
QB STONVR0B.

&oab 26, 20238 SNOBS'D JHE
FEArRS” 2OAS 2.8 85 &S0 INS
20arS, 12§ 15B QS BBE )
CQTODBD rEd  Fwasod
(OSFNETED.

2 DEOIOS B/ $HBI 2

(1)

IRV
II S5

I 083w 1T Bocky
DI 57y



GS']G!’TO1

94.

96.

97.

98.

\\"h?ch of the following state topped the Khelo
India Para Games 2023 medal table ?

(1)  Haryana

(2) Uttar Pradesh

(3) Tamil Nadu

(4)  Gujarat

-~

In \Yhich of the following places were new
medical colleges inaugurated by the Chief

Minister of Andhra Pradesh in September ;

2023 ?

L Eluru

II.  Vizianagaram
ITII.  Pulivendula
IV. Machilipatnam
V.  Adoni

Select the correct answer using the codes
given below :

(1) I,IIandIII

(2) I IllandV

3) ILIIandIV

(4)  All the above

What is India’s rank in Logistics Performance
Index out of 139 countries, as per the World

Bank’s Logistics Performance WQWV
Report 2023 ? %8)

(1) 44 (2) 24
(3) 38 (4) 47

Identify the company that launched ‘Pratham’
which . is the world’s first no-code computer
vision platform :

(1) Assert Al
(2) Microsoft Inc
(3) Google

(4) Dell Technologies

Which among the following Space agencies

has launched its next generation H3 rocket

into orbit ?

(1) Canadian Space Agency (CSA)

(2) Iranian Space Agency

(8) Israel Space Agency (ISA)

(4) Japan Aerospace Exploration Agency
(JAXA)

(41)

04,

(0]

B QoGO rar (e, 2025 Lyt L5
s LgOC) ')')"(BC'JI' 4| (l',;}"l,//"'/ll o T L O ,;1 S
B ? ,

(1) &0 DA

(2)  ¢bE L%

(3)  Swach <

(4) Hzod

VRODEH 202365° BOIGINCE L2l si0 e

e _
& 80® 2 derd T [y LW Ao

rdodocrdd ?

. derdy

II. DaoHIRGo—
L. HOIBoLHe

IV. HOOHEL0 ~

V. &8 o »
BHS BI5AS Fhod ¢GHO3TNol) GDG
DT, NOTHE0 :

(1) 1,11 805w 111

(2) I, III so8050 V

3) I,1I5805%% IV~

4) DI

DH0 ersod TwE erERE) HAIBO
SrOE (LPT) Q36E 2023 (H5°60 139 Bared’

bizZ.COM e | 086 (rss ardatiio g,

O°305 D0o¢b ?
(1) 44 (2) 24
(3) 38— (4) 47

IDD0B0S'R LRG3 F-F& Sosgiend

DB FOTE (no-code computer vision

platform) @ONS (DPVR  (FE0DODS

0 K800 :

(1) Assert AL

(2) Microsoft Inc

(3) Google—"

(4)  Dell Technologies

& 1800 TS  ©0edE HDoPen G

SNB  SGo H3 T3ESH  E5:5E

DSFDE0S 2

(1) 3IQHS DIV B (CSA)

(2)  [TRAHR VIR VB

(3) DS VYV A2 (ISA)

@) BFS TN MIFTAS B
(JAXA)
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(42)

99.  Which of the following became the world’s first | 9¢

c.ountr,\' to make abortion & c'(“ f”. dﬁ.f”'bl o

right ? nstitutional

(D Netherlands

(2)  France

(3)  Australia

(4)  Switzerland

100.

100.

808 &S @rd8& oerion .

“yt

HB6B0DS (DDOTBOS D I Gy, -,

1) BSTosy

2) (TR

@) (RO

@) DIQTOos

@HBAS  SREY 2850 >6E

£290008, 6§ Ho0H0D & (So

Consider the following statements regarding
‘Operation Aspides’ which was recently seen in TS B (DELSOD HBHeIoI0G
the news : %
L A dwdo oA HSIS” D5y
L It is a defensive maritime security FOEAS & HSEHBB0VEAE B
operation to restore and safeguard 58058 2O BT QG
freedom of navigation in the Red Sea. 25858 55,
and the Gulf. www.studybljizz.com
, . . II. eSHBAS @IB) @9I0 R0LOIFS
II.  Operation Aspides is a joint operation by ‘
Interpol and International Maritime 08k ’aoe‘)ag‘néé OB
Organization and was launched on 8FSEAS doaing IRIGAEY
19th February, 2024. HBAD  RE 19 JRNSB, 20248
_ rSododadod .
Which among the above statements is/are
correct ? D (DEOIOS’ DE/DD QB3I ?
(1) TIonly (1) IS
(2) Ionly @) I resh
Both Iand II
& 3) 1805 I Bockr,”
4 None of the above
@ @ 235w
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jo1. Consider the following statements regarding
DOSTI drill :

I. DOSTI-16 is g trilateral const guard

exercise between India, Sri Lanka and

Maldives :
22 to 25

conducted
February, 2024.

from

11. The DOSTI drill was started in 1991 as
a bilateral exercise by the coast guards
of India and Sri Lanka.

111.

Indian Coast Guard Ship Samarth and
ICGS Abhinav participated in the
Exercise DOSTI-16.

Which among the above statements are

correct ?
(1) TandII (2) II and III
(3) IandIII (4) I,II and IIT

102. ‘iOncology.ai’, an Artificial Intelligence (AI)
platform designed for the early detection of

breast and ovarian cancer, was launched by :

All India Institute of Medical BAWWSTHC
collaboration with Centre for Artificial
Intelligence and Robotics (CAIR).

(D

Dr. B. Borooah Cancer Institute in
collaboration with Centre for Cellular
and Molecular Biology (CCMB).

(2)

National Institute of Cancer Prevention
in collaboration with

(3)
and Research
Artificial Intelligence Research Institute
(AIRI).

(4) All India Institute of Medical Sciences in
with for
Development of Advanced Computing

(CDAC).

collaboration Centre

(43 )

101. DOSTI (&4 Honobod

(8EGeE) HBHB0SE

. DOSTI-16 es&6 2306340, %2eos
SNOCsH o"))"é,')«;fj,t‘_) NGE PHO 22
0G 25, 2024 HOS Dozt
(B85 &0 mh argosrano.

G

I 8 &S 199165° Zr6eaio HBCEN
0¥ B, §Q b T Trrhs
OSSN0 (G0 0HE00.

L 2r8eh &6 O5F JE JdNY HOA®
ICGS @SS DOSTI-16 30ireno &
Y T OW.

2 DELIOS’ A HBID ?

(1) I08c»II (2) IIH8c%w III

(3) 1805 III @) I,1180%0 11 __~

102. §50 B0 @omdad 57500

S0OBNT HBOGRo FIH0 ErerodHod
E 83550 SN (AT TS i0ncology.ai’

ANeRn ol Fvieler-AloInralalelal
(1) o885 HB eddAHS ROBOBS)
©wo&  85¢E) (CAIR) 38y
JDFTE0S 8O ROAAT ASVETE
ybizz.comes® DEES RS o° SO°
DPE0D0VDE08.
2 o0E  PE  vewgerd  @ok

Srddoged A8re (CCMB) By
Drsdod @b . TS 53930
BRNETSES T S0° | B0DOVHDB0B.

3) &HAHS  @oBORS)  &IB)
ASVETLES (AIRD) By D5Tsd0e
JASS  aRNOTES @D 55030
ISR ®o&  BIB) o
S0 0BDE0H.

4) VoD HE Blow0oH @D

@R Soyrsedoh (CDAC) 33wy
DFE0S &3 QOBAT ASVETHE
@D  DAES VIR o
80D oG08,
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104.

105.

Sooieiiet the lollowing statements regarding
¥ ate s regarding
CRILO 4 GOOD'

E; CRUIO 4 GOOD ig a series of 8 cricket-
based animation films.

11. (?Blll() 4 GOOD consists of new online,
life skill learning modules to promote
gender equality among girls and boys.

lII.  CRIIIO 4 GOOD was launched by
International Cricket Council, UNICEF
and Board of Control for Cricket in
India,

Which among the above statements is/are
itncorrect ?

(1) TandII

(2)  III only

(3) TandIII

(4)  None of the above

Which among the following country’s Prime
Minister became the first Pacific leader to
address Australia’s Parliament ?

(1)  Philippines
(2) Marshall Islands
(3)  Fiji

(4) Papua New Guinea
www.stug

Consider the following statements regarding
PACE satellite :

I It is NASA’s satellite mission to study
ocean health, air quality and effects of

climate change.

II. PACE  satellite was successfully
launched aboard a SpaceX Falcon-9

rocket on 82 February, 2024.

Which among the above statements is/are
incorrect ?

(1) Ionly
(2) IIonly
(3) BothIandII

‘CRITTO 4 GUULMo VUL O 8k
Lbé@éon“» H6Kedos0b L
CRIIIO 4 GOOD @36 8 L§§¢3-@gm
ST DDS D (F€.
CRIIIO 4 GOOD @35 200e% N6y,
weryoneds  Oof éém@‘:é;v
(§Fe8 yer0otdETRS TS &8s, e
2536 B6) 0 SrchrsSOD 8Dthos,
CRIIIO 4 GOOD @OSTAD (85
)5, UNICEF SO 2rESTHos:
18885  dodolSed N0BO s
(D*80D0IDE0R.

2 (HELIOES’ QO €S ?

(1) TI08a%w II

(2) III S|

(38) Is8aswIII

4) I
104. & ROHS FTF0ESES” (DOOAODS Doocses

IVDE TOHHB @ BFVE TOAS DG

o(ed ?

1) DODYS)

@)  Sr8S &yen

3) 2
ybizzBom>e s ADAST

105. PACE &8 do20800 (806

(D8I HBKIoS0S -

L 30 dwe o8kso, md wress
NBAN TS Se QSO (DeFTeD
BRIONI0  TOHFTAE  SreroBods
T (NASA) BBy, O DAS.

II. PACE &0 8 D238, 2024
SpaceX  FOS9 oBeS o0

103.

L.

II.

III.

DBANSOSOP DTrhotsado8.
29 DY (HEGSE Ha- 3
O ISP =T
@) ISres3.

@) T8asw 17 Bodsy

(4) None of the above

@) 3D sy

/



107. India’s first indigenous Hydrogen fuel cell

G8/1G/101

(a4t
106, Consider the following utie ey
! 1043,
The 100 i )
L Fhe 1" edition of {1 Indinn Naval
Commanders”  Conferene of 94

commenced on Mareh 6™ w024

ll' 'I\l‘(‘ Al o . .
Government,  of  Indin launiehiedd

ADITI scheme " i
I'TI scheme Lo promote innovations in

critical and strategic defenee technology,

ixercige S ¢
HI.  Exercise Samudra Laksamana ig a joint,

naval exercise between the Indian Navy

and Royal Malaysian Navy.

Which among the above gtatements are

correct ?

(1) IandII

(2) ITandIII

(3) ITandIII

(4) I,IIandIII

www.stud

ferry, flagged off by the Prime Minister of

India, was built by :
(1) Hindustan Shipyard Limited

(2) Mazagon Dock Shipbuilders Limited

(3) Hooghly Dock & Port Engineers Limited

(4) Cochin Shipyard Limited
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(]) I 03300555 ’I
Lo P,
(2) 11 235050555 1
2 TP
(c’j) I 6300035 [Il
1 Lo B i,
ybizz.gom, 11 ZL.acil i o
07 ,.‘6 A '/‘(_,‘o-_J, (DA BNl P b A T
107. € Lo).,) (S L e LS b LIS
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Statemeng | - The rege

I the ypp,
urban landscape  of

Karnataky and named i as
LT .
bphzlcmthccu Varshaabhy’

Stateme e
ement JJ - Sphaerothecy Varshaabhu get

its name from its behaviour of
changing colours from brown
to pale brown in the beginning
of monsoon season.

Salar
'def-t the correct answer using the codes
glven below -

(1) Statement T and Statement II are
correct and Statement IT is the correct

explanation for Statement I.

(2)  Statement I and Statement II are
correct, but Statement II is nof the
correct explanation for Statement I.

(3) Statement I is correct, but Statement II
1S 1ncorrect,. WWW.S
(4) Statement I is incorrect, but Statement

II is correct.

The initiative Mission Investigation@75 days,
which mandates investigation officer to
complete investigation of cases within 75 days

of FIR registration is launched by which State

Government ?
(1) Gujarat
‘2)  Odisha
'3) Bihar

108, & B0 (HEEGE) HEME

4) Uttar Pradesh

P
2OLIOCs

/ Vi 3 7, Fa <4,
OO 03¢y,

(DS : DDE
OSSO &
Cf)t);éj"oé” (urban landscap 2.4
b & SH) Mo,

¢

e /
-}qu POLEN
. g or

<7 .

58050 T8 DETS 5 >,
@ BB .

ST°SO0 (600" Hegye
Soth Sod B Hewd Sor
370 Lx)bf_ﬁ,cé Sielaslelan E
H58Bs STET ©F D

SV HOA.

(IEOSII :

%S 735068 FEOD GOTA0D 3B
IIFTTR), NOTHE0E :

DEOS T HOA™ (D3OS I OB
S00A5H 198 T § (080 II OB

DO€.

(2) (DS T HBAW (DFES IT QB N), 5
(088 T § (DEOLS IT OBS D86

5.

(1)

UdybiBz.Ci¥ers T HBIB, 5°9) (L8 1T €85Y).

(4) (DS T 55y, 5 (DEES IT QBIA.

109. Jo0eb STrcd BS 75 TS Tno

BTSN QT J*O TATOT 63 MBS
ATIVAAS@T5 Foverny, S O (20650

oSO L&éoé,’)o@aéo& ?
1) Hzos

2) @7

3) D56 o/

@ &8 5535 )\\
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111.

112.

\\.IH o LLAARIRETY o § h -
N lon ] \ !
un lll D hll |I|\‘Ih|| . l\\l‘\ll‘

11 \‘imup Captain I? Balakrishnoan Naoi
UL Group Captaim Pankag M. Sinhan

Vo Group Captaim Ajit Krishnan

vV Group Captain Angad Pratap

Select the correet answoer

: using the ¢
given below [ codon

O LI Mand V
2 LULIVand V
&) LIL T and 1V
@ LILIVand V

Which among the following is the first country
in the world to launch the Malaria vaccine for
children into its routine national
immunization services ?

(1) Botswana

(2) Cape Verde

(3) Cameroon

(4) Democratic Republic of the Congo

Consider the following statemenWWzWeﬁt,L
Pradhan Mantri Matsya Kisan Samridhi
Sah-Yojana (PM-MKSSY) :

111.

.
o LY e Wi e
o' w)oill) ) §e
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! M, e ’ s @ — y
|(ltp"..) N aled 6, 200 gyt 137557
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P ™. N . I A Vs B
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(2)
(3)

I, 11, 111 s50605n V
I, 1, IV snbain V
I, 11, 111 0605 1V
111, IV 5805n V =~

58 )0

B BSrTEns IS8 535S
SnLTNGE TIo DO ?

(1)
(2)
(3)
(4)

gzapc;»cs O NedYS

IHVbi 2C

Ser) s

T30

SRRV

BIrs¢e36 BHDE & & soft

USRS IN V(@)
-%%1&’.(6 (PM-MKSSY) B0 & 180H

D8RS HOKEIOTIOL ©

I.

26 Sdyg Borko ©OFO8EGn O

L It is a Central Sector Sub-scheme under y %
the Pradhan Mantri Matsya Sampada Sebys g2 HOAW DOY DBF DO
for formalization of the fisheries sector OB BIIETRE DTS oled SNed)y§
and supporting fisheries micro and 50D 8o To(e B0l €5d DHTO.
small enterprises. II. @) T/ared HOAW Bold >OS

II. It will be implemented with an LQ‘OE"OQSG 9023 - 24 @0% H0350
investment of over ¥ 6,000 crores over a 0B 2026 -27 0¥ H0H

) N80 BB
period of next 4 years from FY 2023 — 24 "
to FY 2026 — 27 in all States and Union i)ﬁ,) e 5008’ T 6,000 §6€9‘
Territories. 2DEDVES A @HEN TANVEE0E.

III. It aims to provide one-time incentive to I e5°58030 Qe THffen DTS
beneficiaries for purchasing aquaculture odTHoRH  HE5OY ECANEND
insurance. ©0H0I%0 B ©F $0.

Which of the above statements are correct ? 20 A0S L‘.foéé,)éoé‘ NI QB ?

(1) TandIl (2) I and III (1) I8 I~ (2) 10805 11

(3) TIandIII (4) I, 11 and III (3) 1080w III 4) L II O™ T
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SRS DENSEYY YRR W WM WA S SIS Sl)ul i
(1)
(2)

(3)

Peru
Puerto Rico

Northern Mariana Islangs

(4)  Trinidad and Tobago
Who among  the  following  eminent
personalities are recipients of 58th Jnanpith

Award ?

I. Sampooran Singh Kalra

II.  Jagadguru Rambhadracharyaji -
IIT.  Damodar Mauzo

Sglect the correct answer using the codes
given below : )

(1)  IandIIonly
(2)  II and III only
(3) IIonly

(4) Iand III only

. Consider the following statements regarding
International Big Cat Alliance (IBCA) :

I The International Big Cat Alliance is a
multi-country, multi-agency coalition of
‘96 big cat range countries, non-range
countries interested in bi cat
conservation, conservation panﬁ)’!‘ﬂnﬁt
scientific organizations working the field

of big cat conservation.

The Union Cabinet approved the
establishment of International Big Cat
Alliance headquarters in India with a
one-time budgetary support of ¥ 150
crores for a period of 2 years from
2023 — 24 to 2024 — 2025.

Which among the above statements is/are

IL.

correct ?

(1) Ionly

(2) IIonly

(3) BothIandII

(4) None of the above

114.

115.
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(1) 67
2) Sys@ 68 )
(3) credd HOATT” é§§ﬁ6
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(él? Lgéé (DS0D sedood 58D Flax
T (faresen JSW ?
L Doy S 2y50f 5°OT"
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I or3rdd & ] V
B BSsBS SEOD &HTBrAOD IJ
BT dohsod:

1) 16050 I STE
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(4) I0805» III S5

206813385 D 5585 @oaDS) (IBCA)S
50200000 &a Bod BSLIATNIOAN
586505083 :
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203 Baew, are3 o886 D 83
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116.

(D

2)

LYV Gangadhara Sastry — Music
Jagdish Gangani — Dance

(3
€Y

Parikshit Mahato — Tribal Dance

Helen Giri — Folk and Traditional Music

117. India’s first spy satellite that j
.l 3 S
Jaunched in a SpaceX rocket was builstelgyt-o =

(1) Bellatrix Aerospace Private Limited

(2)  Skyroot Aerospace Private Limited
(3) Dhruva Space Private Limited
(4) Tata Advanced Systems Limited

118. ‘Mgkhyamantri Vishwakarma  Pension
Yojana’, a special scheme to provide pension to
worlfers, street vendors, folk artists on
attaining the age of 60 years, was announced
by the State Government of :

116.

117. DIV X 088 o 30°

118.
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oHEOs HOHSO
@)&rn"ag 23050,
8 &GNV,

5303
o -

a /
YA S ALY

/4

L0

A

8

5605
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(1) B8y BRI B OWBs
@) 8T BTN 23 OWBB

@) B 2R DS OWVE

(4) erey o)l 29 OWB& =~

en, DO T,
23 90HOTIOLNEL
S8 Brades
HEBODOB :

60 DH JodS 570
o8 EFPTHOR DOV
EnoHo@  DIE0 )

(1) Haryana B8 DHSRY, orl (2020 §O
(2) Uttar Pradesh WWW.StU dyblza')co@“c"gﬁ" v
(3) Rajasthan . @) &SSO (DB
(4) Madhya Pradesh 3) T2
@) s DT

119. Recently the State of Tamil Nadu banned the |

sale of cotton candy due to the presence of
which cancer-causing agent in it ?

(1) Aristolochic acids
(2) Benzidine

(3) 1,3-Butadiene

(4) Rhodamine-B

120. Which of the following countries recently

became the 1192 country to join the
International Solar Alliance (ISA) ?

(1) Liberia

(2) Romania

(3) Israel

(4) Malta

28886 SFT D TR0 DD NTONS

119.
)0 508 8085 &IOS TN
05O ROV ?
1) B S essren
(2) BORES
(3) 1,3-33.)(?5‘(%0‘635
(4) BB
120. 2E8sO & 1800 T8 wosTRH IO

S (ISA)S TOS 1195 TH0 O ?

(1) BDBA

2) BDANy
3) QDS

4) e



